

California State University, San Bernardino CSUSB ScholarWorks

Electronic Theses, Projects, and Dissertations

Office of Graduate Studies

5-2023

EXPERIMENTAL METHODOLOGIES IN ASSESSING CERAMIC SHRINKAGE IN RESIDUAL FINGERPRINTS FOR ARCHAEOLOGICAL APPLICATION

Luke Aaron Burnor California State University - San Bernardino

Follow this and additional works at: https://scholarworks.lib.csusb.edu/etd

Part of the Archaeological Anthropology Commons, and the Geology Commons

Recommended Citation

Burnor, Luke Aaron, "EXPERIMENTAL METHODOLOGIES IN ASSESSING CERAMIC SHRINKAGE IN RESIDUAL FINGERPRINTS FOR ARCHAEOLOGICAL APPLICATION" (2023). *Electronic Theses, Projects, and Dissertations*. 1670. https://scholarworks.lib.csusb.edu/etd/1670

This Thesis is brought to you for free and open access by the Office of Graduate Studies at CSUSB ScholarWorks. It has been accepted for inclusion in Electronic Theses, Projects, and Dissertations by an authorized administrator of

CSUSB ScholarWorks. For more information, please contact scholarworks@csusb.edu.

EXPERIMENTAL METHODOLOGIES IN ASSESSING CERAMIC SHRINKAGE IN RESIDUAL FINGERPRINTS FOR ARCHAEOLOGICAL APPLICATION

A Thesis Presented to the Faculty of California State University, San Bernardino

In Partial Fulfillment of the Requirements for the Degree Master of Arts in Applied Archaeology

by

Luke Aaron Burnor

May 2023

EXPERIMENTAL METHODOLOGIES IN ASSESSING CERAMIC SHRINKAGE IN RESIDUAL FINGERPRINTS FOR ARCHAEOLOGICAL APPLICATION

A Thesis

Presented to the

Faculty of

California State University,

San Bernardino

by

Luke Aaron Burnor

May 2023

Approved by:

Dr. Matthew Des Lauriers, Committee Chair, Anthropology

Dr. Guy Hepp, Committee Member

© 2023 Luke Aaron Burnor

ABSTRACT

This research evaluates the extent of ceramic shrinkage using a natural clay source that was locally available and known to be used by native populations in the American Southwest. The experiment took into account variables of temper mixture and firing temperature to assess the extent and potential need for shrinkage calibration in archaeological biometric research (specifically fingerprints). An experimental design was employed to test shrinkage rates while accounting for natural temper materials found frequently in the archaeological record including sand, grog, and quartz. The experiment evaluated whether shrinkage rates may have skewed data collected in previous studies regarding sex and age determination from fingerprints left in ceramic artifacts, that can be corrected for with proper calibration protocols. The purpose of this experiment was to show whether ceramic shrinkage is variable and dependent on temper, temperature, and clay and if further research is necessary to determine specific shrinkage rates before fingerprint data obtained from fired clay can be used to determine probabilities of age and sex. The results of the experiment showed significant shrinkage rates ranging between 10.4–25.4% depending on temper and temperature. These values greatly exceed the standardized rate of shrinkage currently used for calibrating biometric research in archaeology. The experiment demonstrates that similar experimentation is required to calibrate data relative to the unique clay source, temper, and firing temper that the biometric data is collected from.

iii

AKNOWLEDGEMENTS

A number of people have contributed to this thesis and have each been a key part in its completion. First and foremost, I would like to acknowledge and thank California State University San Bernardino for their wonderful MA in Applied Archaeology program. The faculty and staff, especially my advisors Dr. Matthew Des Lauriers and Dr. Guy Hepp, have been extremely supportive in the ideas I had for this Masters Thesis and their gradual refinement into what it has become. Their guidance and tutelage have been invaluable. I would like to acknowledge Matt Dickerson of the California State University San Bernardino Art Department for his absolute patience and support in facilitating the use of kilns, his advice, and his patience during my incessant questioning. I would also like to acknowledge Tony Soares of Tony Soares Native Clays, for putting in the back-breaking work of collecting and preparing clay for this thesis. His consultation, his patience, and his willingness to share his techniques and skill with me were absolutely humbling and I don't think I could have ever met a more kind and giving man. Thank you, to all of you, as this thesis and the experiment contained within would never have found completion without any one of you.

iv

I dedicate this thesis to two people, who were the absolute rock on which I stood during this whole process. My wonderful wife Marlen Hinojosa and my father Robert Burnor Jr. My Dad has always pushed me to become anything I ever wanted and all I ever wanted to be was an archaeologist. It took me a long time to realize that anything was within my grasp as long as I took the path one step at a time and stuck through the rocky parts, and even when I got lost, he was always there willing to point me in the right direction. He has always been my number one fan and every conversation always begins with asking me how school is going. After all this time I'm proud to say that I'm done and this one is for you. My wife has also been equally as supportive. I wouldn't have thought a Masters was possible if she hadn't inspired me. She allowed me the time off while she worked to support me and our two German Shepards, Chapparrin and Islay, while I wrote and worked on the experiment. She helped me roll and mix clay, she helped me edit and format, she helped me every step of the way and always asked "What else do you need?" I'm so grateful for the love and the life you bring to my life every day, you are my heart and soul. This one is also for you.

I would also like to thank so many other people for their contributions to this thesis and to my life as I worked on it. Myriam Hinojosa, my sister, for always looking after me and dog sitting when all my dogs wanted to do was step in my clay and eat it. Thank you for the food and caffeine on days when I barely left the house to write. Thank you to Magda and Rene for being amazing in-laws for the

support, help, and patience while conducted the experiment and took up space in their laundry room. Thank you to the Contreras Family (Hector, Missy, Vero, and Jack) and Cynthia and Brandon, you guys are awesome friends and I appreciate all of you. Thank you to James Clark for your guidance, tutelage, mentorship, and friendship and Robby Heckman for their support of me taking off time from work to finish my Masters. Thank you to SRI who also supported me through this process. Honestly, I wouldn't have been able to complete this work without that time. Thank you to the Scottish people for the invention of scotch. There were just some of those days where scotch made life so much better. On a related note... to Hemmingway for the best advice in writing and editing. Thank you to all of you. I love and appreciate all you have done.

TABLE OF CONTENTS

ABSTRACT	iii
AKNOWLEDGEMENTS	iv
LIST OF TABLES	.ix
LIST OF FIGURES	.х
CHAPTER ONE: INTRODUCTION	.1
CHAPTER TWO: CONCEPTUAL BACKGROUND	.5
Sexing Fingerprints	.7
Aging Fingerprints	.11
CHAPTER THREE: THEMATIC BACKGROUND	.13
Fingerprints in Archaeology	.13
Preservation of Fingerprints	.17
Sexing Fingerprints in the Archaeological Record	.18
CHAPTER FOUR: CERAMICS	.26
Ceramic Sources and Clays	.27
Tempers	.30

Firing Methods	31
Methods and Analysis	33
CHAPTER FIVE: RESEARCH QUESTIONS, MATERIALS, AND METHODS	36
Research Questions	36
Materials and Methods	36
CHAPTER SIX: RESULTS	51
CHAPTER SEVEN: DISCUSSION	54
CHAPTER EIGHT: CONCLUSION	58
APPENDIX A: DATA	61
BIBLIOGRAPHY	78

List of Tables

	Table 1- Area ((mm²)	Shrinkage51	
--	-----------------	-------	-------------	--

LIST OF FIGURES

Figure 1. Raw Salton Sea Clay in Processed Form
Figure 2. Quartz Being Crushed to be used as Temper
Figure 3. Crushed Ceramic (Grog) being Strained to be used as Temper40
Figure 4. Fine Dune Sand to be used as Temper41
Figure 5. Wood Frames Constructed for Rolling Clay42
Figure 6. Clay Tiles being Cut with Molded Die Cutter43
Figure 7. Coded Information Found on Each Tile45
Figure 8. Cut and Coded Tiles Laid out to Air Dry46
Figure 9. One of the Skutt Model KM-822-3" Electric Kilns used to Fire Tiles47
Figure 10. Batch of Tiles Fired at 1000° C Ready to Come Out of the Kiln48
Figure 11. Points of Measurement to Determine Length and Width49
Figure 12. Average Area (mm ²) for Firing Phases by Temper53
Figure 13. Pottery sherds found in Arizona60
Figure 14. Pottery fragment found in California60

CHAPTER ONE:

INTRODUCTION

The purpose of this thesis is to evaluate merit in assessing ceramic shrinkage for the purpose of calibrating biometric data on fingerprints left in pottery found in the archaeological record. The goal is to assess the need for further research and experimentation via the testing of additional clay sources and tempers relative to the appropriate region in which specific biometric data sets are derived. The experiment tests a single clay source obtained from the Salton Trough that was refined and produced using traditional methods and mixed in a series of batches. The purpose of the experiment is aimed at testing the shrinkage rate of the base clay as well as the clay mixed with a variety of tempers sourced from the region and fired at different temperatures to evaluate the effects. The results of the experiment were used to evaluate the necessity of biometric calibration and answer several research questions presented in the Materials and Methods section below.

The experiment demonstrates that shrinkage occurs to a greater degree than accounted for in current biometric research in archaeology, by as much as 23.4%. Currently the standard rate of shrinkage used in research is 7.5%, however the results of my experiment show a range much greater than this, even before firing occurs, and is greatly dependent on temper and firing temperature. When accounting for these new rates of shrinkage, ageing and sex determination

results appear to change significantly and can be used to formulate new interpretations. Therefore, a thorough examination of current standards and methods is necessary to produce more meaningful data.

Previous experimentation has been limited, however what little data has been generated has been used to build the foundation for an entire mode of interpretation that is being used in archaeology more frequently. This type of research is nuanced and highly dependent on appropriate materials and preparation methods. For example, clay used in art studios and conveniently bought ready-made has been purposefully refined and created to withstand the effects of shrinkage and tolerate high rates of fire. Refined and natural clays generally shrink by 7 to 10%, although the full range is thought to be between 0 and 20% (Králík and Novotný 2003, 12). The latter end of this possibility warrants further investigation. However, little has been done, within the discipline of archaeology, to further assess rates of ceramic shrinkage for traditionally used sources of clay.

In one of the few examples, Kamp et al. (1999, 313) assessed Sinagua clays mixed with volcanic cinder by firing tablets of an unknown size for 3 hours at 800°C (1472°F). The experiment found only a .05mm difference after air drying and a further .002mm difference after firing, leading Kamp and colleagues to determine shrinkage was not significant enough to warrant further consideration within the experiment. The experiment tested a single type of clay with a single temper fired at a low temperature. However, a deeper examination of the

multitude of variables involved in the production of ancient ceramics is necessary.

Since the publication of Kamp et al.'s work, minimal attempts have been made to further investigate rates of shrinkage for biometric calibration. Research conducted by Miroslav Králík (2000) for a Masters thesis evaluated the rate of clay shrinkage and concluded that the average rate can be calculated at 1.08108, or 7.5%. This calculation was used to modify the Kamp et al. linear regression equation to account for a single shrinkage rate. This, however, is reductive considering that Králík also states that shrinkage rates, as mentioned above, may vary by up to 20% (Fowler et al. 2019, 1482). Despite this, many investigations (e.g., Fowler et al. 2019; Králík and Novotný 2003; Lambert et al. 2018) in the archaeological investigation of sexing and ageing fingerprints have perpetuated this calculation. This calculation is now used as the standard for shrinkage calibration for biometric data collection in archaeology today. This thesis proposes an approach appropriate to each context in which fingerprint data is found. The experiment conducted is intended as an example of the method of how shrinkage rates should be assessed for the accurate calibration of biometric data.

The research aims to provide a thorough examination of the development of fingerprint technology as well as its transition into archaeological application. The processes of ageing and sex determination based on measurements of the papillary terrain on fingertips is explained to provide a foundation for

understanding biometric research in archaeology today. An exploration of the formation of fingerprints in the archaeological record and the raw material, tempers, and temperature used to create the ceramic on which they are impressed, and most often preserved, is described in detail. This thesis approaches these topics to contextualize why calibration of biometric data is important for accurate interpretation and support further experimentation to produce more meaningful data.

CHAPTER TWO:

CONCEPTUAL BACKGROUND

Fingerprints have been used for millennia as a form of identification (Grzybowski and Pietrzak 2015, 117). The practice of modern fingerprinting is primarily utilized in the forensic sciences but also finds applications in biometric security and the detection of some hereditary diseases (Babler 1991, 95; Gutiérrez-Redomero et al. 2013, 592; Rosa et al. 2002, 1512). From its inception, fingerprint analysis sought to identify generally unique and individualistic traits in the patterning of the papillary terrain (characteristics of the fingerprint surface) to match fingerprints with individuals. The papillary terrain primarily consists of ridges (the raised lines of the fingerprint), furrows (the lower depressions between ridges), and minutia (small unique features of the papillary terrain such as ridge endings and forks). The general patterning of the ridges and furrows, along with minutia, are unique to each person, even (to a degree) among identical twins (Jain et al. 2002, 2661–2662).

The systematic exploration and documentation of fingerprint characteristics was pioneered by the Czechoslovakian physiologist Jan Evangelista Purkynje in 1823 (Grzybowski and Pietrzak 2015, 118). Purkynje observed the ridges and furrows of the papillary terrain and attempted to classify the various whorl, arch, and loop patterns (identifying 9 in total) that varied from person to person, and even finger to finger (Galton 1892, 85–88). In the 1870s Sir William Herschel, the chief administrator of the Jungipoor district of India, collected fingerprints at the signing of contracts for later verification against fraud. It was Herschel's collection that was later used by Francis Galton in the 1890s to bring fingerprints under scientific scrutiny and further identify defining features, which he called "minutia" that significantly increased the possibility of positive matches (Galton 1892, 27–29; Stigler 1995, 859). Galton, among others, championed the need to incorporate the use of fingerprints in criminal investigation stating that, "a sure means of identification is to benefit society by detecting rogues" (Galton 1892, 149).

However, the forensic process we use today is attributed to several sources, each contributing to the growing concept of analyzing the unique features of fingerprints for investigative application at the end of the 19th century. In 1896, fingerprint identification was utilized by the English police officer Sir Edward Richard Henry to identify criminals from fingerprints left at crime scenes (Grzybowski and Pietrzak 2015, 120). In the same year, Croatian-born Juan Vucetich developed comprehensive fingerprint analysis for use in conjunction with a complex *Sistema Dactiloscópico Argentino* (Argentinian Dactyloscopy System), for the Argentinian police – a large referenceable index of repeat offender fingerprints. This system was immensely successful and would later become the model and inspiration for similar systems around the world (Garcia Ferrari 2016). It is Vucetich that is credited with the first arrest and conviction of a

criminal based on fingerprints found at a crime scene (Teitelbaum 2018, 16). Fingerprinting in forensics was arguably the largest breakthrough in criminal investigation in history, debatably second only to 20th–century breakthroughs in DNA analysis.

For the last century, fingerprint analysis and technology have advanced significantly. Fingerprint comparison has largely been automated, returning matches in a fraction of the time it took to train analysts and compare them manually. The system of print classification has also become more sophisticated with the classification of three different types of residual fingerprints: latent, patent, and plastic (Yamashita and French 2011, 3–4). Latent prints refer to fingerprints that have been left by the oils and sweat secreted by the glands on the finger. Patent prints are visible copies of the print (either transferred from the finger to a surface or lifted by the finger from a surface and leaving a negative print) left in or on a type of medium such as paint, ink, or dirt. Lastly, plastic prints are three-dimensional prints left in a plastic medium such as clay, wax, or mud. Additionally, analysts have produced various comprehensive methods to determine the sex and general age of the individual who may have left prints behind.

Sexing Fingerprints

In recent decades fingerprint analysis (or dermatoglyphics) has explored the potential for sex and age identification through calculations of average ridge densities using a variety of imaging techniques and mathematical approaches, to be used primarily in the forensic sciences. The overall concept was to narrow the suspect pool by being able to determine, with a level of confidence, the sex and general age of the individual whose fingerprints were discovered at the crime scene.

Mark Acree (1999) produced a comprehensive study for the Federal Bureau of Investigation (FBI), to assess previously unsubstantiated claims that fingerprint ridge densities varied between men and women. Acree produced a methodology of selecting a 5mm x 5mm (25mm²) portion of the papillary terrain above the "central core" that featured relatively parallel ridges to calculate ridge densities within the defined space. Upon application of Bayes Theorem, his study concluded that "a given fingerprint possessing a ridge density of 11 ridges/25mm² or less is likely to be of male origin. Likewise, a fingerprint having a ridge density of 12 ridges/25mm² or greater is most likely to be of female origin." In this study, Acree sampled 400 individuals: 100 Caucasian males, 100 Caucasian females, 100 African American males, and 100 African American females. The results showed significant differences in epidermal ridge densities between males and females of both groups. Acree's study was the first to conclusively show, through empirical study and a significant sample size, that it is possible to differentiate male and female fingerprints with a high level of

confidence (95%). The study also presented a replicable method that would subsequently become the standard baseline for dermatoglyphic sexing.

Since the publication of Acree's study, a multitude of experiments and research papers have been produced on the subject. Several of them have been focused on whether males and females within specific ethnic populations possess statistically significant differences between ridge densities within a defined area. Acree's method of selecting a single 5mm x 5mm portion of the fingerprint was modified by Gutiérrez-Redomero and colleagues (2008) to include distal, radial, and ulnar portions of given prints, as well as a single central proximal area from all 10 fingers to provide stronger conclusions. This method was then reproduced throughout many of the later investigations into sex differences in the various populations. These population-specific studies include investigations into the differences between male and females, in addition to Acree's 1995 study of Caucasian and African-American populations, in south Indian populations (Gungadin et al. 2007; Nithin et al. 2011), Spanish populations (Gutiérrez-Redomero et al. 2008), Chinese and Malaysian populations (Nayak et al. 2010), Egyptian populations (Eshak et al. 2013), Filipino populations (Taduran et al. 2016), and north Indian populations (Krishan et al. 2013), among others. All these studies concluded with ANOVA or t-test p-values indicating that statistically significant differences occur between male and female ridge densities within the population. The majority of these studies also calculated density thresholds using

Bayes Theorem to determine the probability that a given ridge count would belong to a male or female.

Mundorff and colleagues (2014) produced their own method for measuring ridge densities, measuring the linear span of 10 parallel ridges selected from an arbitrary distal portion of the fingerprint of 250 males and 250 females. Although the process differs from the Acree method by measuring the linear length of a set number of ridges instead of within a defined area, Mundorff and colleagues' experiment produced the same conclusion; males and females have a statistically significant differences in mean ridge densities. This method produced an 83–89% accuracy rate for the determination of sex. The authors also noted that the difficulty of achieving higher accuracy was found in a correlation between weight and stature affecting higher or lower ridge counts (i.e., shorter men possess smaller fingers and therefore greater ridge densities).

Several studies have explored whether the differences between male and female fingerprints from a specific population are distinguishable from other ethnic populations (e.g., Gutiérrez-Redomero et al. 2013a: Gutiérrez-Redomero et al. 2013b). The overall goal was to find whether it would be possible to further narrow the suspect pool by identifying the likely ethnic background of the individual who left prints. These studies, as well as those previously mentioned, have shown that while distinguishable differences between male and females exist, the thresholds between different populations fluctuate within overlapping

parameters, making the distinction of populations difficult. Part of the difficulty of reaching a higher level of confidence for all aging and sexing studies may lie in genetics. The difference between male and female sexes, as well as genders, is not a definitive and binary line and, in reality, represents a spectrum (See Gero and Conkey 1991). The results of these studies and of the following research refer to results obtained from individuals who were born biologically male or female regardless of gender identity.

Aging Fingerprints

During embryonic development, approximately between the 10th and 13th weeks, the subsurface basal layer of the epidermis begins to form a corrugated undulating structure. This structure places pressure on the surface of the skin forming, by week 16, the basis of the pattern of the papillary terrain (Kücken and Newell 2005, 72). Primary ridges (those possessing sweat glands) and secondary ridges continue to spread and join with other growing ridges, which creates unique patterning shapes, until the entirety of the surface of the skin is populated with ridges. At approximately 24 weeks after conception, the papillary terrain is fully formed (Babler 1991, 100) and the pattern of the fingerprint will remain constant throughout the lifespan of the individual (Kücken and Newell 2005, 72–73). However, while the pattern may never change (with the exception

of scarring and disease) as the individual grows, the overall thickness of the ridges increases (David 1981, 280).

The study of ridge breadth has been a subject of interest for almost a century. In 1924, A.F. Hecht (1924) conducted one of the first explorations into the growth of papillary ridges and found that average ridge breadth increased as an individual aged, theorized at the time as part of tactile sensory development. As the body grows, the individual becomes taller, the hands elongate, and the body gains mass until the individual reaches biological maturity. All of these factors lead to an increase in ridge breadth (Cummins et al. 1941, 138). As with ridge density, it was observed that men tend to have more robust ridge breadths, showing that the overall growth of the fingerprint is directly affected by the individual's sex chromosomes (David 1981, 281).

Outside of archaeology, current research into mean ridge breadth (MRB) and the changes to fingerprints that occur through adolescence is somewhat limited. One study, however, has attempted to model growth of the overall expansion of the pattern to provide law enforcement with age progression estimates for better positive match returns (Gottschlich et al., 2011). While this is not directly related to calculating MRB to estimate the age of a fingerprint, it may prove invaluable to future investigations of age estimates via alternative or combined methodologies.

CHAPTER THREE:

THEMATIC BACKGROUND

Fingerprints in Archaeology

Fingerprints are found in a variety of mediums throughout the temporal span of the archaeological record. These residual imprints are dependent on an individual's contact with a plastic medium such as clay, resin, or mud and leaving a three-dimensional imprint (Králík and Nejman 2007, 5). While the study of dermatoglyphics has seen a significant advancement in its capability through the identification of individuals in forensics, its application to archaeology has seen a marked increase in the last few decades with the introduction of various studies and technological advances. While fingerprints are often found on paper, parchment, mud, or other imprintable materials, clay is an ideal medium for capturing prints as the material is highly plastic. The moist nature of clay during the formation of vessels is highly conducive to the transfer of the papillary terrain and the firing process serves to harden and preserve prints. In the past, fingerprints were often seen as a novelty, a small link to an individual practicing a craft long ago. While this notion may still linger, archaeologists around the world are utilizing fingerprint data to bring new interpretations to analysis, largely concerning craft production and social dynamics, as the identities of potters are revealed.

Archaeologists are more likely to see value in dermatoglyphic data when there are several preserved fingerprints discovered between artifacts or during a small temporal span, as opposed to singular or few prints. While forensics is often concerned with the identification of an individual, archaeology is primarily concerned with the agency and practice of individuals as they relate to and participate in their community. However, the transition to studying dermatoglyphics of past populations brings with it an entirely new set of difficulties. For example, the potential for identifying individuals without a full set of prints to compare results to is challenging considering fingerprints differ from finger to finger and the assumption that differing fingerprints belong to separate individuals is problematic potentially leading to false interpretations (Lambert et al. 2018, 64; Rockwell 1970, 77). However, publications within the last 30 years are rife with examples of how fingerprints are being used in the archaeological world. It might be more effective to discuss the methodological challenges and ways in which they may be resolved by providing specific examples attempting to apply various approaches to paleodermatoglyphics.

In 1996, Chrisman and colleagues (1996) discovered baked clay nodules with impressions of finger and palm prints associated with extinct faunal remains and crude tools in Pendejo Cave, New Mexico. Several well-preserved strata containing datable charcoal returned pre– and post–Clovis dates ranging from 12,000 to 37,000 years BP. Clay petrography showed that the clay was composed of alluvial material, contrasting with soils found in the cave, and was not part of the natural in-situ soil, and was therefore likely brought there during the occupation. Using experimental comparisons, the clay was found to have been likely baked between 120 and 300° Celsius. Archaeologists illuminated and photographed the fingerprints using parallel beam fiberoptics to enable detailed analysis, resulting in the identification of patterning, minutia, and several sweat pores. All primates possess friction ridges on their papillary terrain and, considering prehistoric ecology and analysis of the sweat pore frequency, it was concluded that the fingerprints were likely human in origin.

In 2011, Mull and colleagues (2011) analyzed the preserved fingerprints of a bog mummy dubbed the "Girl of the Uchter Moor" or "Moora". Analysis of the preserved right hand of the woman determined that she lived 2,650 years ago in Lower Saxony, Germany. Mull and colleagues used a combination of photography and image enhancement to record Moora's fingerprints and catalog them into the Automated Fingerprint Recognition System (AFIS). Their analysis revealed visible and recognizable fingerprints on all five fingers, detailed enough to categorize pattern type (whorl on all 5 fingers) and identify at least 25 points of minutia. Due to contraction from decay and exposure, the authors estimated fingerprint shrinkage to calibrate their biometric results. Their goal was to use previously published research on the frequencies of fingerprint pattern types in continental populations to assess the likelihood of Moora's genetic origin. A secondary goal of the research was to enter her fingerprints into the AFIS

database for the possibility of making future matches. However, the feasibility of this secondary goal remains to be seen.

Lambert and colleagues (2018) investigated a multitude of finger and palm prints at a Roman outpost ceramic workshop with two production zones in Lezoux France, dated to approximately 30–175 AD. Their investigation aimed to identify fingerprints and determine whether the same individuals were involved in production at both sites, establish a minimum number of individuals, and explore age and sex estimates cross-referenced with funerary remains to examine the demography of the potters. The authors were interested in whether it was possible to identify individuals with specific tasks at the sites and evaluate whether age and sex determined these roles. Their sexing and aging methods followed the same techniques outlined later in this thesis, and used a fixed standard determined for clay shrinkage rates in age estimation. Their results found limited success, but the authors were able to determine that mostly young adults worked at the sites.

Lichthenburger and Moran (2018) investigated a Roman oil and figurine production site in Beit Nattif, Israel. This site was dated to approximately 300 AD and contained the waste fragments of several broken wares, with almost 20% of them possessing fingerprints. At the time of publication, fingerprint research was still being conducted, but it was determined early through manual comparisons that the majority of the prints belonged to the same individual. This single producer was identified on both oil lamps and figurines. Some of the material

also showed signs of experimentation in the craft, but these elements were never produced afterward.

It is apparent from these examples that the analysis of finger and palm prints found in archaeological contexts possess the potential to contribute to the greater understanding of the human environment. They represent the multitude of potential avenues and methods used in the past that lend to the advanced analytical and methodological processes operating today. The examples presented above demonstrate the need to assess shrinkage for the accurate assessment of biometric data. An assessment of the conditions under which the finger or palm impressions were created and the circumstances that may have altered or distorted their accurate collection is required to make conclusions of biometric data. Without a form of calibration to assess shrinkage rates or distortion, the results of biometric data analysis can be flawed and misleading.

Preservation of Fingerprints

Archaeological fingerprints are found in a multitude of environments and on a vast array of mediums. Fingerprints have been preserved and studied on mummies and bog bodies, imprinted in the resin of oil lamps, found on cave walls in paint and ochre, on photosensitive film plates, and various other places and objects (Králik and Nejman 2007, 6–9). However, arguably the most frequent fingerprints in the archaeological record are preserved in ceramics. Clay is an

ideal medium for capturing prints. The material is highly plastic and the moisture content of the clay, during the formation of vessels, is highly conducive to the transfer of prints. Clay vessels are also often formed by hand, several of the formation and decorative processes involve pinching and tactile manipulation in addition to requiring the potter to place the finished product in a kiln, pit, or space to dry, often leaving prints in the process. This makes the production of clay wares one the crafts with the highest potential for producing fingerprints in the archaeological record (Rockwell 1970, 82). Additionally, as clay loses its moisture during drying, the mineral composition of the clay contracts and becomes more compact increasing the durability of the clay. If the vessel is fired, the clay loses most, if not all, water, the matrix of the ceramic body may expand or contrast, and the crystalline composition of the minerals present in the clay may collapse or form new silicates (Stinson 2004, 161). The use of some techniques, such as burnishing, slipping, or painting the ceramics may obliterate fingerprints (Fowler et al. 2019, 1481) but in some cases may act to preserve the prints underneath paint or slip (Králik and Nejman 2007, 6). The resulting fired product is a highly durable material that retains excellent preservation, including the fingerprints they bear. Depending on the environment, these prints may last tens of thousands of years, as seen by the discovery of a fingerprint fragment on a Venus figurine dated to 25,000 BP (Králík et al. 2002, 107).

Sexing Fingerprints in the Archaeological Record

In recent decades, the publication of forensic sex determination studies and the refinement of these techniques have opened new avenues for analyzing the archaeological record. Archaeologists are beginning to move from proving that the method of fingerprint sex determination works to focusing more attention on how that information is applied and generating new interpretations and conclusions. Now, fingerprint data is presenting new challenges to traditional models concerning age and gender roles, the assessment of artisan demographics, and the examination of the production life of individuals. (Bennison-Chapman and Hager 2018; Fowler et al. 2019; Kantner et al. 2019; Lambert et al. 2018; Lichtenberger and Moran 2018; Sanders 2015; Stinson 2004). However, with the transition of applying methods developed for forensic analysis on living populations to its application on material remains of the past, the process encounters both new advantages and challenges.

Paleodermatoglyphic studies, regarding either sexing or aging, benefit from requiring much less of a finger imprint than is needed for positive matches to individuals. However, the accuracy of the conclusions made from these studies improves when researchers have access to a large sample size known to be created by a single population (Sanders 2015, 230). The population studies mentioned above (Acree, 1999; Eshak et al. 2013; Gungadin et al., 2007; Gutiérrez-Redomero et al. 2008; Krishan et al. 2013; Nayak et al., 2010; Nithin et al. 2011; Taduran et al., 2016) have shown that while men possess, on average, coarser ridges and lower ridge densities than women, the two groups overlap.

This is true within and outside of specific populations. Archaeologists cannot assess sex and age from single prints. Therefore, sexing and aging fingerprints found in archaeological assemblages require a significant sample size to produce statistically significant results where data can indicate multi-modal distributions (Fowler et al. 2019, 1477–1478). This is especially true when considering that thresholds between male and female prehistoric populations would need to be determined from the sample as there are no (as of yet) existing baselines for comparison from living descendants (Stinson 2004, 158). In addition, comparing cross-cultural data is not a viable option (Fowler et al. 2019, 1478). When considering the fact that all modern population studies have shown definitively that men and women possess statistically significant differences between ridge densities, it can be assumed with a high degree of confidence that the fingerprints of prehistoric populations would possess the same differences. Working under this assumption allows paleodermatoglyphic research to proceed using techniques refined and tested on modern populations if the method accounts for variables associated with material, production, and taphonomic processes.

Sex determination techniques in the archaeology of fingerprints are primarily concerned with following the Acree (1999) method of calculating ridge densities within a defined area or determining mean ridge breadths (MRB). The use of both techniques in combination with age studies (outlined below) helps reduce the rate of error in determinations (Králík and Novotný 2003, 22–23).

MRBs are calculated one of two ways, by either measuring from the center of one furrow to the center of the next or measuring a defined length (usually 1 cm) from the center of a furrow in a linear direction featuring parallel ridges to the center of another furrow and dividing by the number of ridges contained on the line (Fowler et al. 2019, 1474). Both processes have been found to yield similar and positive results and requires only the preservation of a small set of sequential papillary ridges. However, if the friction ridge impression is unknown as to what portion of the epidermis was imprinted (i.e., palm, fingertip, foot), there may be calculation bias as different places throughout the epidermis (for example the proximal portion of a fingerprint versus the distal radial or ulnar portion of the print) possess courser ridges (Gutiérrez-Redomero et al. 2014, 203–204). Therefore, in the case of fingerprints, identifying some portion of the print pattern is especially helpful.

Several confounding variables have been identified in the process of aging and sexing. Regarding data collection and comparison between studies, it is imperative that the data are collected from the same portion of the print and using the same method. Some studies (Gutiérrez-Redomero et al. 2014, 205– 206; Králík and Novotný 2003, 26) have expressed concern over compatibility issues within the results comparing different data sets produced from different methods, which have produced erroneous or conflicting results. Gutiérrez-Redomero and colleagues (2014), have called for a standardization of methods to solve this issue. The process of deformation is also to be considered when

assessing biometric data on clay. When the finger comes into contact with clay and the papillary imprint is transferred to the raw material, the pressure and direction of the grip distort the print to some degree (Králík and Nejman 2007, 5; Stinson 2004, 106). Therefore, it is important for the analyst to carefully examine the type of material and the print itself for indications of extreme distortion and ensure the obscured prints subsequent elimination from the analyzed sample.

Another issue of concern, and the primary topic of this thesis, is the fact that the majority of studies concerning fingerprints are conducted on prints left on fired clay. Depending on the type of clay, clay grain size, amount of water in the raw material, mineral composition, temperature at which it is fired, and tempers added - clay may shrink or expand. Sexing and aging studies identify clay shrinkage as a variable that needs to be considered for the accurate collection of biometric data interpreted for age and sex studies. Considering the relatively fine units of measurement observed during the process of aging and sexing, the effects of shrinkage can skew data. For sex studies, this skew, for the case of expansion, the data are primarily skewed in favor of males, whereas in the case of shrinkage, the data is skewed in favor of females (Fowler et al. 2019, 1482).

Aging Fingerprints from the Archaeological Record

As with sexing, aging fingerprints in the archaeological record is becoming a mainstay in the process of analyzing archaeological assemblages. The notion of 'a time dominated by men' is being dismantled (Slocum 1975, 49) and in its place is an archaeology that considers all aspects of the human condition, the prominent roles of women, non-binary genders, queer studies, and children. Children are ever present within every society but their existence has often been overlooked in the archaeological record despite the presence of burials, offerings, toys, cradles, and a whole host of other material remains, that existed simply as props for silent actors lacking agency (Baxter 2008, 160–161; Kamp 2015, 166). However, new studies developed alongside the process of sexing fingerprints have begun to integrate the roles of children and their influence on the archaeological record back into the dialog of past societies. Through fingerprint analysis of ceramic (and potentially other) artifacts, archaeologists can determine with a relatively high degree of accuracy which were produced by children and which were produced by adults. This allows us a pathway to examine the roles of individuals in craft production and specialization throughout various age groups.

As previously discussed, the patterns of the papillary terrain are finalized in utero. This includes the number of ridges present within that pattern. As the child grows, their fingers expand, including their friction ridges (Stinson 2004, 174). The driving concept behind age determination from fingerprints is the width of these ridges. As the body matures and the individual reaches puberty, sex differences begin to appear in the detail of the fingerprint. Between approximately 16 and 19 years of age, the child reaches adult proportions and the width of the

ridges begins to plateau into adult ranges. It has been noted that females tend to reach ridge breadths comparable to adult sizes at an earlier age than males (Králík and Novotný 2003, 25), making some female prints ambiguous between the post-pubescent age and full womanhood (Fowler et al. 2019, 1476). Because individuals cease to grow after reaching adulthood, the aging of fingerprints is applicable to only sub-adults.

Aging of fingerprints is, so far, achieved solely through calculating mean ridge breadths. It must be considered that archaeologists measuring fingerprints are measuring a negative relief of the original print, so the ridges on ceramic or other materials are representations of the finger furrows and the depressions on the relief are the ridges (Kamp et al. 1999, 311). The calculation of the MRB can either, as mentioned above regarding sexing, be measured from the center of one furrow to the center of the next or a grouping of ridges measured and divided by the number of ridges in the grouping. In 1999, Kamp and colleagues (1999) produced a regression equation that allowed the estimation of age based on MRB measurements with a 95% confidence interval at 4.5 years:

Age (months) = 614 x ridge breadth (in mm) – 112

In their own study, Králík and Novotný (2003) produced several regression equations based on experimental studies of modern populations, tested against the Kamp et al. equation, to refine the accuracy of age estimates. They found that a modification of the original Kamp et al. regression equation (called *KAmod*)
accounting for a shrinkage rate of 7.5% (or 1.08108), previously determined during Králík's (2000) Masters thesis work, provided the best accuracy with a slightly smaller error rate of 2.36 years:

Age (months) = 614 x ridge breadth (in mm) - 112 x 1.08108

In this study, Králík and Novotný's (2003) conclusion was that a mean ridge breadth of .4 mm represented the threshold between children and adults. However, as previously discussed in aging studies conducted in forensics, confounding variables such as weight, height, sex, and even ethnicity can produce fluctuations in these values (David 1981, 281; Kamp et al. 1999, 311; Mundorff et al. 2014, 893). Both studies represent the foundation of aging analyses being conducted currently in archaeology today. The Králík and Novotný *KAmod* equation can be modified further, as the addition of multiplying 1.08108 (7.5 %) that accounts for shrinkage can be replaced with any value the researcher determines for the shrinkage rate of a specific type of clay. It is this value that the present thesis seeks to determine for various types of tempers and firing temperatures in a single source of clay. Using the results of the experiment conducted for this thesis, these equations are revisited and the resulting values are substituted for the standard shrinkage rate presented in the *KAmod* equation.

CHAPTER FOUR:

CERAMICS

Pottery is one of the few long-lasting and durable materials found in the archaeological record. Countless ceramic sherds are found during survey and excavation projects throughout the world and are common in the United States. These remnants often represent the final step in a *chaîne opératoire*; a production method or sequence of operations (Leroi-Gourhan 1993, 164). This process begins with locating a source of raw material, producing usable clay, forming, decorating, and firing the vessel, use of the vessel for its intended purpose, and finally, the abandonment or destruction of the vessel. For hundreds or thousands of years these durable remnants are often preserved due to their mineralogical, geochemical, and thermal properties. This is a testament of the ingenuity of past peoples to transform a natural plastic material, through the controlled use of fire, into a material capable of withstanding the effects of time and nature while preserving the minute details of the fingerprints of its creators.

In the American Southwest, there is some debate as to whether ceramics were, based on trade and exchange evidence, produced somewhat intensively (Harry et al. 2013, 395) or produced within familial spaces at a small-scale (Van Keuren et al. 2013, 676). However, a general lack of pottery production workshops or specialization centers discovered in the Southwest has led some archaeologists to lean towards the latter (Crown 2007, 679; Tite 1999, 217).

Regardless, the use life of ceramics, in terms of the *chaîne opératoire*, remains the same. More importantly for the current research is that the production process and the individual potter (or potters) physically leave traces of their identity on the surface of the vessel. The process of producing clay vessels is often conceptualized as the work of a single specialized individual, but research in the last two decades has highlighted the idea that ceramic production is often divided among many individuals. The contributions of children in the process as they refine motor skills and develop skills have also been explored (Crown 2007, 677).

With this concept in mind, it is important to understand the major steps in and components of the ceramic *chaîne opératoire*. This is to examine several variables that contribute to the current thesis research on fingerprints in ceramics, associated shrinkage rates with consideration of ceramic type and tempers, as well as the accurate calibration of collected biometric data from aging and sexing studies in archaeological contexts. The following sections will briefly assess variables of ceramic shrinkage including clay, clay sources, tempers, and firing methods. These are not meant to be comprehensive examinations, but explorations of considerations to be taken into account during the experimental process contained within this thesis.

Ceramic Sources and Clays

When clay deposits form, there is a hydrothermal and/or depositional process that forms concentrations of rare earth, alkaline, and transitional elements. These elements serve as indicators of the contributing sediments that are produced from specific erosional environments (Ratto et al. 2015, 13–14). Therefore, clay deposits are products of the accumulation of lithic debris produced from the natural forces of erosion and deposition where the combination of specific geochemical and mineralogical components make each deposit unique (Bishop et al. 1982, 276). There is some debate among sciences that deal with clays concerning the precise definition of clay and the size of the minerals required to fit that definition. There is a general consensus, though, about the basic composition of clay, as well as plasticity with water, and hardening when dried (Bergaya and Lagally 2013, 5). A grain size of <2 μ m (micrometers or .02 millimeters) is generally the typical size of clay particles although particle size may remain plastic at sizes of up to <4 μ m (Guggenheim and Martin 1995, 258; Santacreu 2014a, 19).

The specific minerals contained in clay are referred to as hydrous aluminum phyllosilicates where the elemental bonds produce particles that 'layer' or 'sheet' which in turn stack or interlock to create the matrix of the clay when wet, including the pores between the particles (called capillaries), and remain bonded after water is evaporated through hydrogen cohesion (Bergaya and Lagally 2013, 5). The pores between plates create space in which the water added to clay is absorbed and lend to the increased plasticity of the paste while

remaining adherent. Clays will therefore absorb between 15 and 50 percent of their dry weight depending on how fine and tightly packed the clay particles become. Clay retains water for a long period of time and, if not exposed to dehydrating environments, will preserve in its pliable hydrated form. Preserved wet clays are typically extracted from beneath a humus layer up to 5 meters deep (Santacreu 2014a, 65), although it is possible to collect dry clay and rehydrate it.

Clays are extracted in specific locations where sources naturally occur with craftspeople sometimes traveling many kilometers and across cultural boundaries to collect from sources known to be of high quality (Beck and Neff 2007, 289). After the clay is collected, transported, and ready for paste preparation, the clay is often 'cleaned' or improved through sifting of large inclusions or non-plastic material to homogenize the material and sometimes mixing in other types of clay (Tite 1999, 184–185). Depending on the technique, different types of clays or mixtures can be produced from the same sources (Santacreu 2014a, 75). During this process, different types of tempers can also be added to the mixture to improve or stabilize the paste during the drying or firing process (Bishop et al. 1982, 283). Tempers are discussed more thoroughly in the following section.

Analysis techniques will be addressed at the end of the current chapter, but a few topics are worthy of note here. When analyzing the mineralogical and geochemical properties of fired clay for the potential source, the refinement process of removing inclusions, the addition of tempers, or the mixing of two

different clays are important considerations that may alter the chemical signature (Bishop et al. 1982, 276; Ratto et al. 2015, 14). In terms of fingerprint analysis, it has also been noted that the quality of fingerprint preservation in working clay is highly dependent on the clay mineral size with larger grains and inclusions potentially obscuring measurable prints. In this case, the collection of fingerprint data is better served by measuring a grouping of ridges to calculate ridge breadths and densities (Králik and Novotný 2003, 11).

<u>Tempers</u>

Tempers are non-plastic materials that either occur naturally or are intentionally added to clay pastes which function to improve the quality of paste for vessel formation (Bishop et al. 1982, 283) or regulate ceramic shrinkage during the firing process (Tite 1999, 185). These inclusions often possess qualities of low thermal expansion or produce pores, which create a ceramic matrix naturally tolerant to temperature change, preventing cracking, popping, or complete destruction of the vessel form during firing (Bishop et al. 1982, 314). Temper may also act to reduce the amount of water required to make the raw clay particles adherent and pliable, resulting in the reduction of the dehydration phase of firing and aiding in strengthening the internal structure of the ceramic (Santacreu 2014a, 69, 90). The materials used to regulate the ceramic paste varies by region and the geochemical properties of the clay source. 'Cleaning', the use of temper, and mixing multi-source clays all may alter the chemical

signature and properties of the clay paste resulting in a more workable and stable ceramic (Ratto et al. 2015, 13). These 'recipes' are often refined, shared, and replicated across multiple generations (Santacreu 2014b, 379–380) resulting in a tradition of practice often seen in the archaeological record.

Natural ceramic tempers utilized around the world may include zircon (Tochlin et al. 2012), trachybasalt (Gonzalez et al. 2014, 59–60), granite, mica, limestone, feldspar, hornblende, or a variety of other volcanic, metamorphic, or sedimentary materials (Bishop et al. 1982, 281, 314). Materials often added to clay pastes as temper include plant fibers, bone, shell, ashes (Santacreu 2014a, 70), grog (crushed ceramic) (Harry et al. 2013, 386; Santacreu 2014a, 70), mixed sand, and crushed quartz (Hildebrand et al. 2002, 125, 127). As a matter of focus for the experimental portion of this thesis, tempers common to the southwest United States (specifically the Salton Trough and ancient Lake Cahuilla area of California) are considered more closely. These tempers, most commonly found in samples of Salton Buff and Lower Colorado Buffware, include crushed quartz, sand, and grog (Beck and Ferguson 2016, 263; Hildebrand et al. 2002, 130, 139).

Firing Methods

After the clay was prepared and the vessel was shaped into its final form, the clay required a substantial amount of drying. This allowed water in the clay matrix to evaporate and reduced the effects of rapid moisture loss and shrinkage during the firing process. This was achieved by letting the items rest in open air or baking in a low-temperature firing environment. Once this process was done, the item was then fired at full temperature. The method of firing may also vary by time and location with some groups in the past burying vessels in campfires or pits and some firing them in more stable environments such as ovens or kilns (Gliozzo 2020, 2). Open firing produces temperature ranges between 500–900°C, whereas a more regulated and encapsulated environment, such as a kiln, may reach temperatures approaching 1000°C (Tite 1999, 189). Several variables affect the outcome of the finished vessel and may produce varying results, these include the mineral content of the clay, natural or added tempers, firing environment (i.e., reduction or oxidizing), fuel type, temperature, and several others (Kostadinova-Avramova 2018, 617).

Ceramic was fired at a variety of temperatures in the past. In addition to reducing or eliminating the water content of the clay, firing also produces physical changes in the clay mineral structures themselves through bonding, vitrification, or sintering (Gliozzo 2020, 25). At temperatures ranges above 500–700°C the ceramic is largely dehydrated and shrinkage reduces significantly as the mineral structure of the clay bonds. This bonding process essentially waterproofs the vessel as porosity decreases, density increases, and results in a vessel able to hold water without sieving or reverting to a plastic state. At temperatures above 950°C sintering begins (Santacreu 2014a, 91). Sintering is the breakdown of the

clay particle structure resulting in the fusing of minerals in a liquid state that results in a more dense microstructure and increased matrix homogeny (Maca 2009, 13; Santacreu 2014a, 91). The range of vitrification, or the point at which ceramic becomes less porous and the minerals will melt into glass, depends on the type of minerals present within the clay matrix but generally takes place when ceramic is fired at some time over 1000°C (Garzón 2022, 15890).

Some concern over the usefulness of determining maximum firing temperatures in archaeology has been expressed. Because firing environments are highly variable, ceramics fired in the same environment and even the same vessel can experience varying temperature rates depending on a multitude of factors including proximity to fuel, open or closed atmospheres, proximity to other vessels, etc. (Gosselain 1992, 252–253). Maximum temperature may differ between areas of the same vessel during firing by 150°C (Tite 1999, 190). However, the determination of maximum firing temperatures on single sherds or fragments containing biometric data avoids this issue as the metrics obtained for aging and sexing are concerned with a single location on the vessel and not the entirety of the fired product. The experiment conducted for this thesis explored a variety of temperature ranges to assess the rate of shrinkage based on known changes in clay mineral composition.

Methods of Analysis

A few methods of analysis are available for the assessment of ceramic sherds in order to conduct biometric data calibration. These analyses include petrographic and archaeothermometry determination. Firstly, petrographic analysis includes identifying the geochemical and mineralogical composition of ceramics (Quinn 2013, 1). Geochemical and mineralogical identification can assist researchers in understanding the provenience and origin of the raw clays used in producing the vessel and any tempers that may have been added. Additionally, understanding the compositional makeup of the clay can assist research by identifying the likely shrinkage rate of fired clays based on predetermined rates of similar clays and clay mixtures without the need of experimentation. Geochemical and mineralogical analysis methods may include oxidation analysis to look at the provenience of clay particle deposition, laserablation inductively-coupled plasma spectrometry (LA-ICPS) (Beck and Neff 2007, 291; Tochlin et al 2012, 2586), instrumental neutron activation analysis (INAA) (Harry et al. 2013, 387; Ratto et al. 2015, 13–14; Santacreu 2014a, 35), X-ray powder diffraction (XRPD) (Santacreu 2014a, 18), X-ray fluorescence (XRF) (Quinn 2013, 1; Speakman et al. 2011, 3483), and a number of other methods that ultimately acquire the same result.

In addition to petrographic research, determining the firing temperatures of clay samples containing biometric data can also assist biometric research by providing additional information about how much a sample may have shrunk due to thermal factors when used in tandem with petrographic determinations. The study of ceramic firing temperatures is often referred to as 'archaeothermometry' or 'palaeothermometry' (Tarhan et al. 2021, 2) and the assessment of maximum firing temperatures has been extensively developed with a wide array of analytical methods available for determination. These methods include observation of mineral changes in the clay matrix including levels of sintering and vitrification, expansion analyses, magnetometry, X-ray diffraction (Kostadinova-Avramova 2018, 631); Rasmussen et al. 2012, 1705–1706), transmission electron microscopy (TEM), and Fourier Transform Infrared Spectroscopy (FT-IR) (Gliozzo 2020, 27), all with varying results and potential.

The purposes of these analyses is to determine information pertinent to understanding the provenience and production of ceramic sherds containing biometric data. If petrography and archaeothermometry can be utilized in tandem with further published data (such as the data produced in this thesis) on known regional clay sources, it may allow more accurate estimations of age and sex using residual fingerprints found in the archaeological record. This may be accomplished by perhaps creating a referenceable index of clay sources, their geochemical and mineralogical properties, and estimating known rates of shrinkage based on variables such as tempers and firing temperature.

CHAPTER FIVE:

RESEARCH QUESTIONS, MATERIALS, AND METHODS

Research Questions

In order to evaluate the current use of biometric calibration in archaeology, a series of research questions were developed to guide and facilitate interpretation:

- Is the shrinkage rate of ceramic from the Salton Trough fired without temper at various temperatures sufficient to warrant a calibration when assessing biometric data?
- 2. Does mixing tempers (i.e., sand, grog, and quartz) reduce the effect of shrinkage sufficient to warrant a calibration when assessing biometric data?
- 3. If shrinkage or expansion occurs, is it within a reasonable amount to suspect a miscalculation in aging and sexing determination?
- 4. If shrinkage or expansion occurs, is it within reason to believe the differentiation between juveniles and adult women may be miscalculated?

Materials and Methods

This experiment was designed to test the shrinkage rate of a single natural clay source. Clay sourcing and types were evaluated in this experiment to

produce ceramic that most closely reproduces a ceramic paste utilized by Southwest Native Americans. The clay used in this experiment is from an undisclosed source in the Salton Trough near the Salton Sea, California and was prepared by Tony Soares, a native ceramicist and flintknapper, utilizing a traditional clay source and materials. Preparation of the clay consisted of collection in a dry clumpy form and soaking in water before being thoroughly mixed. The clay and water mixture was left until clay particles settled and excess water was siphoned off. The clay was then filtered through a 1/16-inch screen to remove large inclusions and most organic materials. The mixture was then poured into large shallow basins and covered until excess water naturally evaporated and the clay was workable (Figure 1).



Figure 1 - Raw Salton Sea clay in processed form

Temper used in this experiment was collected and mixed by myself. The temper consists of material used often in the area from which the clay was sourced, found in the archaeological record, or was known to living descendants still practicing the craft today: quartz, grog, and sand. The quartz used for this thesis research was quartz crystal locally sourced from the Palm Springs area of

California. The quartz was crushed and strained through a 1/16-inch colander to ensure a consistent and appropriate size for use as temper (Figure 2).



Figure 2 - Quartz being crushed for use as temper

The grog used as temper was derived from the same clay used to make the experimental tiles; fired at the highest temperature used in this experiment (1000°C), crushed, and passed through a 1/16-inch colander before being added to the clay mixture (Figure 3).



Figure 3 - Crushed ceramic (Grog) being strained for use as temper

Lastly, the sand used as temper is fine dune sand sourced from near Joshua Tree, California (Figure 4). These were mixed with raw clay in various ratios to provide a consistency appropriate for the ceramic paste. Quartz was mixed with one tablespoon for every pound of clay; grog was mixed with one tablespoon for every pound of clay; and sand was added to the raw clay until an approximate 20% sand mixture was achieved. All tempers were added to the clay through thorough kneading or wedging by hand.



Figure 4 - Fine dune sand for use as temper

Four batches of different clay mixtures, one non-tempered batch, and three batches containing each temper, were required for the experiment. After the tempers were mixed with the clay, each temper mixture was divided into three sets (or sub-sets) of thirty tiles, each to be fired at different temperatures (i.e., thirty tiles for sand temper to be fired at 450°C, thirty tiles for sand temper to be fired at 700°C, and thirty tiles for sand temper to be fired at 1000°C, etc.). Each sub-set was rolled with a rolling pin within a constructed wooden frame with two 1cm thick rails on each side to maintain a consistent thickness of the clay (Figure 5).



Figure 5 - Wood frames constructed for rolling clay

Each rolled sub-set was then cut into thirty 60mm by 58.5mm tiles using a preformed steel die cutter to ensure each tile was the same size (Figure 6). Four clay mixtures and their three individual sub-sets at thirty tiles a piece produced three hundred and sixty individual tiles for data collection.



Figure 6 - Clay tiles being cut with molded die cutter

Each tile was also imprinted at the center of the tile with a four-by-four plastic Lego construction block measuring 15.8mm. The process of marking the center attempted to produce an additional point of measurement to assess ceramic shrinkage at the center of the tiles. This mark was assessed for a shrinkage rate independently of the edge width and length, then averaged with the shrinkage rate determined by the edges. This was to provide a single shrinkage rate for the tile with consideration of shrinkage throughout the tile, not just contraction of the edges. An attempt to control for potential distortion was also considered by applying the minimum amount of pressure necessary to leave a clear imprint using both the Lego and coding instruments. I additionally imprinted each tile with coding information to maintain a simple method of maintaining mixture and firing temperature provenience. The tiles were stamped with a metal stamping kit and coded to indicate temper and temperature while pliable. The coding was as follows: NT = Non-tempered, Q = Quartz Temper, P = Grog Temper (P was used to eliminate possible marking confusion between Q and G), and S = Sand Temper. In addition, the tiles within each temperature grouping were numbered (1–30) to facilitate data management in case of breakage or data loss. The tiles were also marked in the lower right-hand corner with roman numerals indicating the intended firing temperature and were coded as: I = 450°C (842°F), II = 700°C (1292°F), and III = 1000°C (1832°F). Therefore, the tile coding P-18 with a roman numeral II in the bottom right corner of the tile corresponded to the eighteenth tile in the grog temper sub-set to be fired at a temperature of 700°C (Figure 7).



Figure 7 - Coded information found on each tile

The tiles, once formed and coded, were set out to dry in the open indoor air for no less than four days (Figure 8). Air circulation was achieved using an oscillating fan placed approximately six feet from the tiles. This was to ensure a gradual loss of moisture from the clay to reduce the possibility of cracking or exploding during firing. After air-drying, I measured the tiles and shrinkage was calculated before firing and packed into boxes using sheeted packing foam for transport to the California State University San Bernardino kilns.



Figure 8 - Cut and coded tiles laid out to air-dry

Each mixture underwent a series of three testable conditions with thirty tiles dedicated to each condition. First, thirty tiles were used from each of the sub-mixtures to test shrinkage rates of kiln firing temperatures 450°C, 700°C, and 1000°C, for eight hours each. Kiln firing was conducted at the California State University of San Bernardino using three electric Skutt automatic kilns (two model KM-822-3" and one model KM-1027-3") at the CSUSB Department of Art & Design (Figure 9).



Figure 9 - One of the Skutt Model KM-822-3" electric kilns used to fire tiles

The tiles were first preheated for twelve hours at 82°C (180°F), to completely dehydrate the tiles, slow fired to their appropriate maximum temperatures over the course of five hours, fired at maximum temperature for 8 hours, then subsequently left to cool gradually for another twenty-four hours (Figure 10).



Figure 10 - Batch of tiles fired at 1000°C and ready to come out of the kiln

Once the tiles were fired, each was inspected for integrity and the production of a usable and measurable tile to ensure correction for data loss. The tiles and center marks were then each measured using a Carbon Fiber Composites digital caliper with an accuracy of \pm 0.2mm. Each tile length and width were measured using an average of the top, middle, and right measurements to ensure the most accurate representation of the true metric (Figure 11).



Figure 11 – Points of measurement to determine length and width

Metrics for length, width, and center were recorded for each tile and a raw data table was created for the resulting changes. The resulting data was also looked at two ways. 1) The center marking was measured after firing and compared against the known size of the Lego block (15.8 mm) to determine whether shrinkage was occurring at the center of the tile as opposed to contraction at the edges only. 2) Width and length of the tiles were multiplied together to determine the surface area of each tile, all 30 tiles from each temper and temperature sub-set were then averaged together, and then compared to the known constant of the die cutter (60 * $58.5 = 3510 \text{ mm}^2$) to determine an overall area shrinkage.

CHAPTER SIX:

RESULTS

All tiles fired during the experiment withstood the firing process and remained intact, resulting in optimal data collection. All tiles and their sub-sets displayed shrinkage during air drying, before kiln firing was conducted, to various degrees. As research previously indicated, the process of dehydration is where the tiles experience their largest percentage of shrinkage, even before firing occurs (Table 1). The most significant shrinkage from air drying occurred in the tiles without temper added to them, with these tiles being reduced in size by an average of 21.6%. The least amount of shrinkage from air drying occurred with the tiles containing a sand temper, with a contraction of only 9.9%.

Table 1 - Area (mm²) Shrinkage				
Temper Type	Air-Dry	Temperature 1 450°C (842°F)	Temperature 2 700°C (1292°F)	Temperature 3 1000°C (1832°F)
No Temper	21.6%	22.3%	22.0%	25.4%
Quartz	18.3%	19.8%	19.1%	22.4%
Grog	19.2%	19.9%	19.3%	23.2%
Sand	9.9%	10.1%	9.1%	10.4%

The first firing only reduced the size of the tiles by an additional <2% for all four clay mixtures. Consistent with the air-drying results, shrinkage after firing was observed the most in fired tiles that did not have temper added to them.

Firing reduced the size of the non-tempered tiles between 22.3% and 25.4% with each of the three different tested temperatures. Observation of surface area between temperature I (450°C) and temperature II (700°C) indicates that a process of slight expansion occurs, with all four clay mixtures experiencing a shrinkage percentage lower than the first firing temperature.

Comparisons of the tile dimensions after firing at the first two temperatures show very little change in all temper categories, apart from the expansion observed in all tiles between ranges I and II. This expansion only differs from the first firing temperature by 1% in sand tiles and <1% in the three others. However, the difference observed in shrinkage between firing temperature II and temperature III (1000°C) displays the greatest rate of change. All four temper types were reduced to their highest value of shrinkage after being fired at temperature III, indicating that a physical change occurred that condensed the ceramic matrix between these two temperatures.

When analyzing the basic statistical package for the differences between all thirty tiles within each temper and temperature sub-set, the range of differences is fairly small (between 69.8 and 177.4 mm²). Although the tiles have each shrank in response to each firing environment, some by more than a centimeter on each side, and affected by their individual tempers, the small range within each sub-set indicates that the variability of the different subsets is the product of each unique circumstance and not random chance. A basic bar graph

(Figure 12) shows that, after initial water loss during air-drying, the processes of shrinkage and expansion occur within fairly tight parameters.



Figure 12 - Average area (mm²) for firing phases by temper

CHAPTER SEVEN:

DISCUSSION

When considering the results of the experiment, I argue that prehistoric pottery determined to originate from the Salton Trough and possessing biometric data requires calibration before an accurate estimation of age and sex can be determined. If Králík's (2000) Masters thesis work that determined a standard shrinkage rate of 7.5% and Králík and Novotný's (2003) modification of Kamp et al.'s (2015) regression equation to account for this shrinkage rate was required, then a shrinkage rate exceeding the 7.5% value would undoubtedly be required. Shrinkage exceeding 7.5% was observed in all four of the tempers even before kiln firing was conducted.

This experiment, along with the tests conducted by Králík (2000) and Kamp et al. (2015), indicate that shrinkage is based on several factors such as the specific mineralogical and geochemical composition of the clay, tempers added to it to control for shrinkage, and the temperature at which the clay is fired (or air-dried). This may require archaeologists to conduct similar shrinkage testing on each specific clay environment (source) with tempers appropriate to each ceramic tradition to accurately calibrate collected biometric data. The results of this experiment clearly show that shrinkage occurs to a considerable degree between formation of a vessel through the clay dehydration process.

The experiment shows that clay shrinks at various rates based on temper and temperature. The data suggest that the expansion observed is the product of the firing temperature between 450°C and 700°C, considering this change was consistent through all tempers and occurred regardless of the temper type. If both processes of shrinkage and expansion occur, calibration of biometric data would require a careful determination of the firing temperature on which the fingerprint is impressed. In addition, examination of the changes unique to each temper require a specific calibration. For example, quartz and grog produced similar results, whereas sand temper seemingly stabilized the paste and controlled shrinkage to a greater degree. When conducting sexing and aging of fingerprints found in Salton Trough clay, an analysis of geochemical and mineralogical composition, ceramic firing temperatures, and temper content would be required.

A stated above, age and sex are identified according to the minute measurements of fingerprint impressions that calculate ridge densities and mean ridge breadths. Králík and Novotný's (2003) KaMod equation which introduces a value to adjust for shrinkage is as follows:

Age (months) = 614 x ridge breadth (in mm) – 112 x 1.08108

Where "1.08108" represents the coefficient of a 7.5% shrinkage rate. If we insert a value for mean ridge breadths, such as 0.3 mm, the equation can be solved as follows:

> Age (months) = $614 \times 0.3 - 112 \times 1.08108$ Age (Months) = 184.2 - 121.08096Age (Months) = 63.11904

The result places the age of the individual with a MRB of 0.3mm at approximately 5.25 years of age. However, if the equation were to be adjusted for a ceramic shrinkage rate produced by this experiment, the values change drastically. The following equation substitutes the 7.5% shrinkage rate for the shrinkage rate obtained from grog temper fired at 1000°C (23.2%):

Age (months) = $614 \times 0.3 - 112 \times 1.232$

Age (months) = 184.2 - 137.984

Age (months) = 46.216

The introduction of a new shrinkage rate changes the estimation of the age by 16.9 months, or 1.4 years. The child that produced the fingerprint is now estimated to be 3.9 years old.

Changing the values to account for specific shrinkage rates is the best method for accurately estimating the age and sex of an individual. Especially because rates of shrinkage and expansion may exacerbate the already ambiguous metrics between adult women and post-pubescent females. The values between the two may vary by only a few micrometers. Depending on the amount of shrinkage, the accurate classification of males, females, and juveniles may be obscured. The classification of age, like sex, also highly depends on the accurate calibration of biometric data.

CHAPTER EIGHT:

CONCLUSION

The relatively new method of aging and sexing fingerprints in the forensic sciences is based on the mean ridge breadths and ridge density calculations of fingerprints left in the environment. These methods are supported by studies showing that men, women, and children have statistically discernable fingerprints. This is true among all living human populations studied. Archaeologists are beginning to utilize the minute measurements of fingerprints found in the archaeological record and preserved on ceramic sherds to age and sex their crafters. This concept relies on the assumption that the identifiable differences between men and women remain constant for native populations in the past. However, as researchers have transitioned this concept to other applications, an entirely new set of variables must be considered.

With the experiment conducted for this thesis, I aimed to assess the need to calibrate biometric data collected in the field. I intended to demonstrate that a single clay source, mixed with various tempers and fired at temperatures relevant to archaeology in the American Southwest, experiences shrinkage worth accounting for when aging and sexing. The results of the experiment exceeded values used as a constant in archaeological interpretations and publications today and demonstrated that need. Considering the variability of the data from this experiment, I recommend that further testing be done on other clay sources

in the American Southwest. It is important to determine the effects of shrinkage on specific geochemical and mineralogical clay compositions as well as tempers appropriate to the region in which the ceramic possessing biometric data is found.

Further research would also benefit from experimentation with the firing environments used in which the ceramic was traditionally produced. Kiln firing was used in this experiment to create an environment of controlled, even, and predictable temperatures for the production of equally fired tiles for better data collection. However, traditionally in the American Southwest the firing of ceramic was achieved through pit firing, which produces an unpredictable environment with varying temperature ranges and different atmospheres. Another factor not explored in this thesis is the effect of varying fuel types and what effect they may have on the firing process.

Ceramic on which fingerprint data can be found are found in a variety of contexts. From the desert floor (Figure X and X), on Spanish Mission tiles, specimens already curated, or even raw material preserved in a workshop or around a fire. It takes a keen observer to recognize the grooves and patterns of prints. However, as with most things, once you learn to recognize these signs of the past, they will appear more often than you imagined.



Figure 13 - Pottery sherds found in Arizona



Figure 14 - Pottery fragment found in California
APPENDIX A: DATA

1. Basic Measurements Raw Data

Towney Type	Temperature 1 450°C (842°F)		Temper 700°C (1	ature 2 L292°F)	Temperature 3 1000°C (1832°F)		
Temper Type	Length (mm)	Width (mm)	Length (mm)	Width (mm)	Length (mm)	Width (mm)	
No Temper 1	53.4	51.5	53.6	51.5	52.3	50.1	
No Temper 2	53.5	51.9	52.3	51.6	51.1	50.5	
No Temper 3	53.3	51.8	53.4	50.1	52.2	50.7	
No Temper 4	52.8	51.4	52.7	51.4	51.9	48.8	
No Temper 5	52.9	51.8	51.7	51.2	51.9	49.8	
No Temper 6	54.1	51.4	52.5	51	52.8	50.2	
No Temper 7	52.5	52.1	53.5	51.6	52	51	
No Temper 8	53.4	51.8	53.4	51.1	51.9	50	
No Temper 9	54.5	51.1	52.9	51.5	52	50.5	
No Temper 10	52.1	51.9	53	51.9	52.4	50.3	
No Temper 11	53.1	51.8	52.8	52.3	51.6	50.7	
No Temper 12	53.4	51.7	53.6	51.7	52.1	50.6	
No Temper 13	52.3	51.1	53.3	51.8	52.5	50.2	
No Temper 14	53.1	51.3	53.6	51.9	51.3	51.1	
No Temper 15	53.4	52.5	53.4	52.1	52.5	51.4	
No Temper 16	52.7	50.4	52.9	52.5	51.2	51.2	
No Temper 17	52.7	50.4	53.9	52.4	51.9	49.6	

No Temper 18	52.1	51.4	53.6	51.7	52	50
No Temper 19	54.2	49.3	53.3	50.6	52.6	50.6
No Temper 20	53.6	51	53.5	51.5	51.3	50.8
No Temper 21	52.8	51.5	53.2	51.7	50.7	50.6
No Temper 22	52.9	51.4	52.5	52	52.5	50.5
No Temper 23	53.9	51.4	53.7	51.7	52.2	51
No Temper 24	53	50.6	52.1	52	51.7	51
No Temper 25	53	50.8	52.6	51.9	52.4	50.1
No Temper 26	52.9	51.7	52.9	52.4	51	50
No Temper 27	54.1	51.8	52.6	51.8	51.8	50.3
No Temper 28	53	51.1	53	52.2	52.1	50.2
No Temper 29	52.9	51	53.6	50.9	52	50.4
No Temper 30	53	51	52.8	50.5	51.7	50.2
Quartz Temper 1	53.5	53.4	54.4	52.8	53.3	50.9
Quartz Temper 2	54.9	52.4	54.3	52.9	53.3	52.2
Quartz Temper 3	54	52.2	53.8	52.4	52.4	51.4
Quartz Temper 4	53.9	52.7	54.4	52.3	53.2	51.3
Quartz Temper 5	54.1	52.2	53.7	52.7	52.9	51.3
Quartz Temper 6	54.2	52	53.9	53	52.9	51.3
Quartz Temper 7	53.6	53.1	54	53.3	53	50.8
Quartz Temper 8	53.7	52.9	53.6	52.6	53.1	51.6
Quartz Temper 9	53.6	52	53.7	52.3	53	51.5
Quartz Temper 10	54.1	51.9	53.4	53.1	53.1	50.9
Quartz Temper 11	53.1	52.9	53.3	52.6	53.2	51.6
Quartz Temper 12	52.6	52.1	53.4	52.4	53	50.2
Quartz Temper 13	53.4	51.9	53.5	53	52.7	51.4
Quartz Temper 14	54.1	52.9	53.2	52.9	53.2	50.9
Quartz Temper 15	54.2	52	53.7	52.7	53.1	50.8
Quartz Temper 16	54.1	51.6	53.4	52.7	52.9	51.1
Quartz Temper 17	53.4	52.8	53.6	52.7	52.7	51
Quartz Temper 18	52.8	52.2	55	52.1	52.8	51.3
Quartz Temper 19	53.6	52.3	53.7	52.8	53	52
Quartz Temper 20	53.5	52.2	53.9	52.8	53	51
Quartz Temper 21	53.6	51.7	54.7	52.8	53.4	51.4
Quartz Temper 22	52.8	52.1	54.2	52.3	52.7	51.6
Quartz Temper 23	54	52.2	54.3	52.5	53.4	51.3
Quartz Temper 24	53.8	52.2	53.6	53	53.1	52
Quartz Temper 25	53.7	52	54.4	52.6	53.3	52.3
Quartz Temper 26	53.9	52.2	54.3	53	53.1	50.8
Quartz Temper 27	54.1	52.8	54	52.3	53.3	51.4

Quartz Temper 28	54.5	52.6	53.8	52.6	53.8	51.8
Quartz Temper 29	54.5	52.8	53.9	52.5	53	51.7
Quartz Temper 30	54.1	52.6	54.1	52.2	53	51
Grog Temper 1	53.7	52.6	54.3	52.5	52.2	51.2
Grog Temper 2	53.7	51.9	54.6	52.3	52	50.9
Grog Temper 3	54	51.7	54.1	52.8	52.3	50.8
Grog Temper 4	53.8	51.9	53.8	52.5	52.4	50.4
Grog Temper 5	53.9	52.4	54.3	53	52.1	51.3
Grog Temper 6	54.1	52.4	54.4	52.2	52.8	51.4
Grog Temper 7	53.8	52.5	54.4	52	53	50.5
Grog Temper 8	53.5	52.6	54	52	52.9	51.4
Grog Temper 9	53.6	52.3	53.9	52.7	53	51.4
Grog Temper 10	53.9	52.1	53.7	52.6	52.4	51
Grog Temper 11	53.7	52.4	53.9	52.7	52.8	51.6
Grog Temper 12	53.6	52.3	53.9	52.7	52.7	50.8
Grog Temper 13	53.7	52	53.8	51.9	52.8	51
Grog Temper 14	53.3	52.4	53.7	52.2	52.9	51.3
Grog Temper 15	53.5	52.5	53.7	52.3	53.3	51.5
Grog Temper 16	54.3	52.3	54.1	52.3	52.8	50.9
Grog Temper 17	53.5	52.3	53.8	52.4	53	51.6
Grog Temper 18	53.9	52.8	53.6	52.5	52.9	51
Grog Temper 19	53.9	52.1	54.2	52.4	53	50.9
Grog Temper 20	54	52.3	54	52.3	51.4	50.9
Grog Temper 21	54	52.4	53.8	52.8	53.2	51.3
Grog Temper 22	53.9	51.8	54.2	52.5	53.5	51
Grog Temper 23	54.4	52	54.7	52.6	53.5	51.4
Grog Temper 24	54	51.7	54	52.4	53.1	51.2
Grog Temper 25	53.8	51.7	54.1	52.2	53.2	50.4
Grog Temper 26	53.7	51.8	54.4	52.3	53	51
Grog Temper 27	53.8	51.6	53.9	52	53	51
Grog Temper 28	54.3	52.2	54.5	51.9	53.1	50.7
Grog Temper 29	54	52.5	54.1	52.5	53.1	50.6
Grog Temper 30	53.8	52.5	54.7	51.9	53.6	50.6
Sand Temper 1	57.4	55.7	57.2	55.2	56.9	55.2
Sand Temper 2	57	55.2	57.1	55.6	57.8	54
Sand Temper 3	56.7	55.2	57.4	56	56.9	54.9
Sand Temper 4	57.4	55.1	57.1	55.5	56.7	55.1
Sand Temper 5	57.3	55.1	58	55.9	56.2	55.2
Sand Temper 6	56.9	55.3	57.1	55.6	56.7	55
Sand Temper 7	56.6	55.7	57.5	55.5	57	54.7

Sand Temper 8	57.2	55.5	56.9	56	56.5	56
Sand Temper 9	56.9	55.4	57	55.4	56.6	55.5
Sand Temper 10	57.3	55.5	56.9	55.3	56.8	55.3
Sand Temper 11	57.4	55.9	57.4	55.4	57	55.3
Sand Temper 12	57	55.8	57.7	55.7	56.8	55
Sand Temper 13	57.2	54.6	57.3	55.7	56.7	55.2
Sand Temper 14	56.8	55.2	57.3	55.6	57	55
Sand Temper 15	57	55.4	57.4	55.7	57	55.8
Sand Temper 16	56.8	55.3	57.5	55.6	56.9	55.4
Sand Temper 17	56.7	55.6	57.3	55.8	56.9	55
Sand Temper 18	56.9	55.4	57.8	55.4	57.5	55.1
Sand Temper 19	57.1	55.2	57.7	56.2	57.2	54.8
Sand Temper 20	56.9	55.3	58.4	55.5	57.1	55
Sand Temper 21	56.6	56.1	57.6	56	56.9	55
Sand Temper 22	56.3	55.7	57.7	55.9	57.6	55.1
Sand Temper 23	57.2	55.8	57.3	55.7	57.2	54.9
Sand Temper 24	56.7	55.4	57.9	55.3	57.6	55.4
Sand Temper 25	56.1	54.5	57.5	55.8	57.6	55.1
Sand Temper 26	56.5	54.9	57.3	55.2	57.9	55.4
Sand Temper 27	57	55.3	57.5	55.2	56.6	55.3
Sand Temper 28	57.3	55.9	57.3	55.4	56.7	55.1
Sand Temper 29	57.2	55.3	57.3	56.1	57.6	55.5
Sand Temper 30	57.6	55.6	56	55.8	57.3	55.2

2. No Temper – Calculations for Difference between Wet Size and Fired Area

Temper Type	Temperature I 450°C (842°F)								
remper rype	Wet Length (mm)	Wet Width (mm)	Wet Area (mm²)	Fired Length (mm)	Fired Width (mm)	Area (mm²)			
No Temper 1	60.0	58.5	3510.0	53.4	51.5	2750.1			
No Temper 2	60.0	58.5	3510.0	53.5	51.9	2776.7			
No Temper 3	60.0	58.5	3510.0	53.3	51.8	2760.9			
No Temper 4	60.0	58.5	3510.0	52.8	51.4	2713.9			
No Temper 5	60.0	58.5	3510.0	52.9	51.8	2740.2			
No Temper 6	60.0	58.5	3510.0	54.1	51.4	2780.7			
No Temper 7	60.0	58.5	3510.0	52.5	52.1	2735.3			
No Temper 8	60.0	58.5	3510.0	53.4	51.8	2766.1			
No Temper 9	60.0	58.5	3510.0	54.5	51.1	2785.0			

No Temper 10	60.0	58.5	3510.0	52.1	51.9	2704.0	
No Temper 11	60.0	58.5	3510.0	53.1	51.8	2750.6	
No Temper 12	60.0	58.5	3510.0	53.4	51.7	2760.8	
No Temper 13	60.0	58.5	3510.0	52.3	51.1	2672.5	
No Temper 14	60.0	58.5	3510.0	53.1	51.3	2724.0	
No Temper 15	60.0	58.5	3510.0	53.4	52.5	2803.5	
No Temper 16	60.0	58.5	3510.0	52.7	50.4	2656.1	
No Temper 17	60.0	58.5	3510.0	52.7	50.4	2656.1	
No Temper 18	60.0	58.5	3510.0	52.1	51.4	2677.9	
No Temper 19	60.0	58.5	3510.0	54.2	49.3	2672.1	
No Temper 20	60.0	58.5	3510.0	53.6	51.0	2733.6	
No Temper 21	60.0	58.5	3510.0	52.8	51.5	2719.2	
No Temper 22	60.0	58.5	3510.0	52.9	51.4	2719.1	
No Temper 23	60.0	58.5	3510.0	53.9	51.4	2770.5	
No Temper 24	60.0	58.5	3510.0	53.0	50.6	2681.8	
No Temper 25	60.0	58.5	3510.0	53.0	50.8	2692.4	
No Temper 26	60.0	58.5	3510.0	52.9	51.7	2734.9	
No Temper 27	60.0	58.5	3510.0	54.1	51.8	2802.4	
No Temper 28	60.0	58.5	3510.0	53.0	51.1	2708.3	
No Temper 29	60.0	58.5	3510.0	52.9	51.0	2697.9	
No Temper 30	60.0	58.5	3510.0	53.0	51.0	2703.0	Shrink %
No Temper 30 Average	60.0 60.0	58.5 58.5	3510.0 3510.0	53.0 53.2	51.0 51.3	2703.0 2728.3	Shrink % 22.3%
No Temper 30 Average	60.0 60.0	58.5 58.5	3510.0 3510.0	53.0 53.2	51.0 51.3	2703.0 2728.3	Shrink % 22.3%
No Temper 30 Average	60.0 60.0	58.5 58.5	3510.0 3510.0 Temperat 700°C (12	53.0 53.2 ure II 92°F)	51.0 51.3	2703.0 2728.3	Shrink % 22.3%
No Temper 30 Average Temper Type	60.0 60.0	58.5 58.5	3510.0 3510.0 Temperat 700°C (12	53.0 53.2 ure II 92°F)	51.0 51.3	2703.0 2728.3	Shrink % 22.3%
No Temper 30 Average Temper Type	60.0 60.0 Wet Length	58.5 58.5 Wet Width	3510.0 3510.0 Temperat 700°C (12 Wet Area	53.0 53.2 ure II 92°F) Fired Length	51.0 51.3 Fired Width	2703.0 2728.3 Area	Shrink % 22.3%
No Temper 30 Average Temper Type	60.0 60.0 Wet Length (mm)	58.5 58.5 Wet Width (mm)	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm ²)	53.0 53.2 ure II 92°F) Fired Length (mm)	51.0 51.3 Fired Width (mm)	2703.0 2728.3 Area (mm ²)	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1	60.0 60.0 Wet Length (mm) 60.0	58.5 58.5 Wet Width (mm) 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm ²) 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6	51.0 51.3 Fired Width (mm) 51.5	2703.0 2728.3 Area (mm ²) 2760.4	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2	60.0 60.0 Wet Length (mm) 60.0 60.0	58.5 58.5 Wet Width (mm) 58.5 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3	51.0 51.3 Fired Width (mm) 51.5 51.6	2703.0 2728.3 Area (mm ²) 2760.4 2698.7	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1	2703.0 2728.3 Area (mm ²) 2760.4 2698.7 2675.3	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 4	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1 50.1 51.4	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1 50.1 51.4 51.2	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 3 No Temper 4 No Temper 5 No Temper 6	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1 50.1 51.4 51.2 51.0	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2677.5	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1 51.4 51.2 51.2 51.0 51.6	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2647.0 2677.5	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 5 No Temper 7 No Temper 8	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5 53.5 53.4	51.0 51.3 Fired Width (mm) 51.5 51.6 50.1 51.4 51.2 51.2 51.0 51.6 51.1	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2677.5 2760.6 2728.7	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 3 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 6 No Temper 8 No Temper 8	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5 53.4 52.5 53.4 52.9	51.0 51.3 Fired Width (mm) 51.5 51.6 51.4 51.4 51.2 51.2 51.0 51.0 51.1 51.5	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2647.0 2677.5 2708.8 2708.8	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 3 No Temper 4 No Temper 4 No Temper 5 No Temper 5 No Temper 7 No Temper 9 No Temper 10	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5 53.5 53.4 52.9 53.4 52.9 53.0	51.0 51.3 Fired Width (mm) 51.5 51.6 51.4 51.2 51.2 51.2 51.0 51.6 51.1 51.5 51.5 51.5	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2677.5 2760.6 2728.7 2724.4 2750.7	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 3 No Temper 4 No Temper 5 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 9 No Temper 10	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.4 52.5 53.5 53.4 52.9 53.0 52.8	51.0 51.3 Fired Width (mm) 51.5 51.6 51.6 51.4 51.2 51.2 51.2 51.2 51.2 51.2 51.2 51.2	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2698.7 2675.3 2708.8 2647.0 2677.5 2708.8 2647.0 2677.5 2708.8 2708.8 2647.0 2677.5 2708.8 2708.8 2647.0 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2708.8 2009.8 2008.8 2009.8 2000.8 2009.	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 3 No Temper 4 No Temper 4 No Temper 4 No Temper 5 No Temper 4 No Temper 4 No Temper 4 No Temper 10 No Temper 11	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5 53.5 53.4 52.9 53.0 53.0 52.8 53.6	 51.0 51.3 Fired Width (mm) 51.5 51.6 51.4 51.2 51.2 51.4 51.2 51.5 51.6 51.6 51.7 51.7 	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2708.8 2647.0 2677.5 2760.6 2728.7 2761.4 2750.7 2761.4	Shrink % 22.3%
No Temper 30 Average Temper Type No Temper 1 No Temper 2 No Temper 3 No Temper 3 No Temper 4 No Temper 4 No Temper 5 No Temper 5 No Temper 5 No Temper 4 No Temper 10 No Temper 11 No Temper 12	60.0 60.0 Wet Length (mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	58.5 58.5 Wet Width (mm) 58.5 58	3510.0 3510.0 Temperat 700°C (12 Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	53.0 53.2 ure II 92°F) Fired Length (mm) 53.6 52.3 53.4 52.7 51.7 52.5 53.5 53.4 52.9 53.5 53.4 52.9 53.0 52.8 53.0 52.8 53.6 53.6 53.3	 51.0 51.3 Fired Width (mm) 51.5 51.6 51.6 51.4 51.2 51.4 51.2 51.4 51.2 51.4 51.5 51.6 51.7 51.8 51.2 	2703.0 2728.3 Area (mm²) 2760.4 2698.7 2675.3 2647.0 2677.5 2708.8 2647.0 2677.5 2760.6 2728.7 2728.7 2728.7 2750.7 2750.7 2750.7 2761.4 2771.1	Shrink % 22.3%

No Temper 15	60.0	58.5	3510.0	53.4	52.1	2782.1				
No Temper 16	60.0	58.5	3510.0	52.9	52.5	2777.3				
No Temper 17	60.0	58.5	3510.0	53.9	52.4	2824.4				
No Temper 18	60.0	58.5	3510.0	53.6	51.7	2771.1				
No Temper 19	60.0	58.5	3510.0	53.3	50.6	2697.0				
No Temper 20	60.0	58.5	3510.0	53.5	51.5	2755.3				
No Temper 21	60.0	58.5	3510.0	53.2	51.7	2750.4				
No Temper 22	60.0	58.5	3510.0	52.5	52.0	2730.0				
No Temper 23	60.0	58.5	3510.0	53.7	51.7	2776.3				
No Temper 24	60.0	58.5	3510.0	52.1	52.0	2709.2				
No Temper 25	60.0	58.5	3510.0	52.6	51.9	2729.9				
No Temper 26	60.0	58.5	3510.0	52.9	52.4	2772.0				
No Temper 27	60.0	58.5	3510.0	52.6	51.8	2724.7				
No Temper 28	60.0	58.5	3510.0	53.0	52.2	2766.6				
No Temper 29	60.0	58.5	3510.0	53.6	50.9	2728.2				
No Temper 30	60.0	58.5	3510.0	52.8	50.5	2666.4	Shrink %			
Average	60.0	58.5	3510.0	53.1	51.6	2738.9	22.0%			
Temperature III										
Temper Type			1000°C (18	32°F)						
i emper i ype	Wat Longth	Mat Midth	Mat Area	Eine al Leve at la	Finad \A/idth	A roo				
	wet Length	wet width	wet Area	Fired Length	Fired width	Area				
	(mm)	(mm)	(mm ²)	Fired Length (mm)	(mm)	(mm ²)				
No Temper 1	(mm) 60.0	(mm) 58.5	(mm ²) 3510.0	fired Length (mm) 52.3	(mm) 50.1	(mm ²) 2620.2				
No Temper 1 No Temper 2	(mm) 60.0 60.0	(mm) 58.5 58.5	(mm ²) 3510.0 3510.0	Fired Length (mm) 52.3 51.1	(mm) 50.1 50.5	(mm ²) 2620.2 2580.6				
No Temper 1 No Temper 2 No Temper 3	(mm) 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5	wet Area (mm²) 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2	fired width (mm) 50.1 50.5 50.7	Area (mm²) 2620.2 2580.6 2646.5				
No Temper 1 No Temper 2 No Temper 3 No Temper 4	(mm) 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5	(mm ²) 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9	(mm) 50.1 50.5 50.7 48.8	Area (mm²) 2620.2 2580.6 2646.5 2532.7				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5	(mm) 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5	wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9	Image: Arrow of the second	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5	wet Area (mm ²) 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 51.9 52.8	fired width (mm) 50.1 50.5 50.7 48.8 49.8 50.2	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0	Image: Amage:	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9	Intel width (mm) 50.1 50.5 50.7 48.8 49.8 50.2 51.0 50.0	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2595.0				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 9	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9	Image: mage with the mage withe mage withe mage with the mage withe with the mage w	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2595.0 26262.0				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 9 No Temper 10	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	Wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.0 52.0 52.0 52.0 52.4	Intel width (mm) 50.1 50.5 50.7 48.8 49.8 50.2 51.0 50.5 50.0 50.3	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2595.0 2626.0 2635.7				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 9 No Temper 10 No Temper 11	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	(mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.0 52.0 52.1.9	Image: mage: mage	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2595.0 2626.0 2635.7 2635.7				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 10 No Temper 11 No Temper 12	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	wet Area (mm²) 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1	Image: marger with the second seco	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 26595.0 2626.0 2635.7 2635.7 2616.1 2636.3				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 7 No Temper 9 No Temper 10 No Temper 11 No Temper 12 No Temper 13	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	(mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1 52.4 52.1 52.5	Image with the second secon	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2652.0 2626.0 2626.0 2635.7 2636.3 2635.5				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 7 No Temper 9 No Temper 10 No Temper 11 No Temper 13 No Temper 14	(mm) 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	wet Area (mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1 52.4 51.6 52.1 52.5 51.3	Image with the second secon	Area (mm²) 2620.2 2580.6 2646.5 2646.5 2650.6 2650.0 2652.0 2655.0 2635.7 2636.3 2635.5 2635.4				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 7 No Temper 8 No Temper 10 No Temper 11 No Temper 12 No Temper 13 No Temper 14 No Temper 15	(mm) 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	(mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1 52.4 52.5 51.3 52.5 51.3	Image with the second secon	Area (mm²) 2620.2 2580.6 2646.5 2635.7 2584.6 2652.0 2652.0 2652.0 2652.0 2652.0 2652.0 2655.0 2635.7 2636.3 2635.5 2621.4 2698.5				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 8 No Temper 10 No Temper 11 No Temper 12 No Temper 13 No Temper 14 No Temper 15 No Temper 15	(mm) 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	(mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.0 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1 52.5 51.3 52.5 51.2	Image with the second secon	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2650.7 2652.0 2652.0 2656.0 2635.7 2636.3 2635.5 2621.4 2698.5 2621.4				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 10 No Temper 11 No Temper 12 No Temper 13 No Temper 14 No Temper 15 No Temper 16 No Temper 17	(mm) 60.0	(mm) 58.5	(mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 52.1 52.5 51.3 52.5 51.2 51.9	Image with the second secon	Area (mm²) 2620.2 2580.6 2646.5 2646.5 2532.7 2584.6 2650.6 2652.0 2652.0 2652.0 2652.0 2655.0 2626.0 2635.7 2636.3 2635.5 2621.4 2698.5 2621.4 2574.2				
No Temper 1 No Temper 2 No Temper 3 No Temper 4 No Temper 5 No Temper 6 No Temper 7 No Temper 7 No Temper 7 No Temper 8 No Temper 10 No Temper 11 No Temper 12 No Temper 13 No Temper 14 No Temper 15 No Temper 16 No Temper 17	(mm) 60.0	(mm) 58.5 58.5 58.5 58.5 58.5 58.5 58.5 58.	(mm²) 3510.0	Fired Length (mm) 52.3 51.1 52.2 51.9 51.9 52.8 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.0 51.9 52.1 52.5 51.3 52.5 51.2 51.9 51.9 52.0	Intel width (mm) 50.1 50.5 50.7 48.8 49.8 50.2 51.0 50.5 50.7 50.7 50.2 51.0 50.5 50.7 50.7 50.7 50.7 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.6 50.7 50.7 50.7 50.7 50.7 50.7 50.7 50.7 50.7 50.7 50.7	Area (mm²) 2620.2 2580.6 2646.5 2532.7 2584.6 2650.6 2652.0 2652.0 2655.0 2635.7 2635.7 2635.5 2621.4 2698.5 2621.4 2574.2 2600.0				

No Temper 20	60.0	58.5	3510.0	51.3	50.8	2606.0	
No Temper 21	60.0	58.5	3510.0	50.7	50.6	2565.4	
No Temper 22	60.0	58.5	3510.0	52.5	50.5	2651.3	
No Temper 23	60.0	58.5	3510.0	52.2	51.0	2662.2	
No Temper 24	60.0	58.5	3510.0	51.7	51.0	2636.7	
No Temper 25	60.0	58.5	3510.0	52.4	50.1	2625.2	
No Temper 26	60.0	58.5	3510.0	51.0	50.0	2550.0	
No Temper 27	60.0	58.5	3510.0	51.8	50.3	2605.5	
No Temper 28	60.0	58.5	3510.0	52.1	50.2	2615.4	
No Temper 29	60.0	58.5	3510.0	52.0	50.4	2620.8	
No Temper 30	60.0	58.5	3510.0	51.7	50.2	2595.3	Shrink %
Average	60.0	58.5	3510.0	51.9	50.4	2617.4	25.4%

3. Quartz Temper – Calculations for Difference between Wet Size and Fired Area

Tompor Type	Temperature I 450°C (842°F)									
remper rype	Wet Length	Wet Width	Wet Area	Fired Length	Fired Width	Area				
	(mm)	(mm)	(mm²)	(mm)	(mm)	(mm²)				
Quartz Temper 1	60.0	58.5	3510.0	53.5	53.4	2856.9				
Quartz Temper 2	60.0	58.5	3510.0	54.9	52.4	2876.8				
Quartz Temper 3	60.0	58.5	3510.0	54.0	52.2	2818.8				
Quartz Temper 4	60.0	58.5	3510.0	53.9	52.7	2840.5				
Quartz Temper 5	60.0	58.5	3510.0	54.1	52.2	2824.0				
Quartz Temper 6	60.0	58.5	3510.0	54.2	52.0	2818.4				
Quartz Temper 7	60.0	58.5	3510.0	53.6	53.1	2846.2				
Quartz Temper 8	60.0	58.5	3510.0	53.7	52.9	2840.7				
Quartz Temper 9	60.0	58.5	3510.0	53.6	52.0	2787.2				
Quartz Temper 10	60.0	58.5	3510.0	54.1	51.9	2807.8				
Quartz Temper 11	60.0	58.5	3510.0	53.1	52.9	2809.0				
Quartz Temper 12	60.0	58.5	3510.0	52.6	52.1	2740.5				
Quartz Temper 13	60.0	58.5	3510.0	53.4	51.9	2771.5				
Quartz Temper 14	60.0	58.5	3510.0	54.1	52.9	2861.9				
Quartz Temper 15	60.0	58.5	3510.0	54.2	52.0	2818.4				
Quartz Temper 16	60.0	58.5	3510.0	54.1	51.6	2791.6				
Quartz Temper 17	60.0	58.5	3510.0	53.4	52.8	2819.5				
Quartz Temper 18	60.0	58.5	3510.0	52.8	52.2	2756.2				
Quartz Temper 19	60.0	58.5	3510.0	53.6	52.3	2803.3				
Quartz Temper 20	60.0	58.5	3510.0	53.5	52.2	2792.7				

Quartz Temper 21	60.0	58.5	3510.0	53.6	51.7	2771.1			
Quartz Temper 22	60.0	58.5	3510.0	52.8	52.1	2750.9			
Quartz Temper 23	60.0	58.5	3510.0	54.0	52.2	2818.8			
Quartz Temper 24	60.0	58.5	3510.0	53.8	52.2	2808.4			
Quartz Temper 25	60.0	58.5	3510.0	53.7	52.0	2792.4			
Quartz Temper 26	60.0	58.5	3510.0	53.9	52.2	2813.6			
Quartz Temper 27	60.0	58.5	3510.0	54.1	52.8	2856.5			
Quartz Temper 28	60.0	58.5	3510.0	54.5	52.6	2866.7			
Quartz Temper 29	60.0	58.5	3510.0	54.5	52.8	2877.6			
							Shrink		
Quartz Temper 30	60.0	58.5	3510.0	54.1	52.6	2845.7	%		
Average	60.0	58.5	3510.0	53.8	52.4	2816.1	19.8%		
Tompor Type	Temperature II 700°C (1292°F)								
remper rype	Wet Length	Wet Width	Wet Area	Fired Length	Fired Width	Area			
	(mm)	(mm)	(mm²)	(mm)	(mm)	(mm²)			
Quartz Temper 1	60.0	58.5	3510.0	54.4	52.8	2872.3			
Quartz Temper 2	60.0	58.5	3510.0	54.3	52.9	2872.5			
Quartz Temper 3	60.0	58.5	3510.0	53.8	52.4	2819.1			
Quartz Temper 4	60.0	58.5	3510.0	54.4	52.3	2845.1			
Quartz Temper 5	60.0	58.5	3510.0	53.7	52.7	2830.0			
Quartz Temper 6	60.0	58.5	3510.0	53.9	53.0	2856.7			
Quartz Temper 7	60.0	58.5	3510.0	54.0	53.3	2878.2			
Quartz Temper 8	60.0	58.5	3510.0	53.6	52.6	2819.4			
Quartz Temper 9	60.0	58.5	3510.0	53.7	52.3	2808.5			
Quartz Temper 10	60.0	58.5	3510.0	53.4	53.1	2835.5			
Quartz Temper 11	60.0	58.5	3510.0	53.3	52.6	2803.6			
Quartz Temper 12	60.0	58.5	3510.0	53.4	52.4	2798.2			
Quartz Temper 13	60.0	58.5	3510.0	53.5	53.0	2835.5			
Quartz Temper 14	60.0	58.5	3510.0	53.2	52.9	2814.3			
Quartz Temper 15	60.0	58.5	3510.0	53.7	52.7	2830.0			
Quartz Temper 16	60.0	58.5	3510.0	53.4	52.7	2814.2			
Quartz Temper 17	60.0	58.5	3510.0	53.6	52.7	2824.7			
Quartz Temper 18	60.0	58.5	3510.0	55.0	52.1	2865.5			
Quartz Temper 19	60.0	58.5	3510.0	53.7	52.8	2835.4			
Quartz Temper 20	60.0	58.5	3510.0	53.9	52.8	2845.9			
Quartz Temper 21	60.0	58.5	3510.0	54.7	52.8	2888.2			
Quartz Temper 22	60.0	58.5	3510.0	54.2	52.3	2834.7			
Quartz Temper 23	60.0	58.5	3510.0	54.3	52.5	2850.8			
Quartz Temper 24	60.0	58.5	3510.0	53.6	53.0	2840.8			
Quartz Temper 25	60.0	58.5	3510.0	54.4	52.6	2861.4			

Quartz Temper 26	60.0	58.5	3510.0	54.3	53.0	2877.9	
Quartz Temper 27	60.0	58.5	3510.0	54.0	52.3	2824.2	
Quartz Temper 28	60.0	58.5	3510.0	53.8	52.6	2829.9	
Quartz Temper 29	60.0	58.5	3510.0	53.9	52.5	2829.8	
							Shrink
Quartz Temper 30	60.0	58.5	3510.0	54.1	52.2	2824.0	%
Average	60.0	58.5	3510.0	53.9	52.7	2838.9	19.1%
			Tempera	ature III			
Temper Type			1000°C (1832°F)			
remper type	Wet Length	Wet Width	Wet Area	Fired Length	Fired Width	Area	
	(mm)	(mm)	(mm²)	(mm)	(mm)	(mm²)	
Quartz Temper 1	60.0	58.5	3510.0	53.3	50.9	2713.0	
Quartz Temper 2	60.0	58.5	3510.0	53.3	52.2	2782.3	
Quartz Temper 3	60.0	58.5	3510.0	52.4	51.4	2693.4	
Quartz Temper 4	60.0	58.5	3510.0	53.2	51.3	2729.2	
Quartz Temper 5	60.0	58.5	3510.0	52.9	51.3	2713.8	
Quartz Temper 6	60.0	58.5	3510.0	52.9	51.3	2713.8	
Quartz Temper 7	60.0	58.5	3510.0	53.0	50.8	2692.4	
Quartz Temper 8	60.0	58.5	3510.0	53.1	51.6	2740.0	
Quartz Temper 9	60.0	58.5	3510.0	53.0	51.5	2729.5	
Quartz Temper 10	60.0	58.5	3510.0	53.1	50.9	2702.8	
Quartz Temper 11	60.0	58.5	3510.0	53.2	51.6	2745.1	
Quartz Temper 12	60.0	58.5	3510.0	53.0	50.2	2660.6	
Quartz Temper 13	60.0	58.5	3510.0	52.7	51.4	2708.8	
Quartz Temper 14	60.0	58.5	3510.0	53.2	50.9	2707.9	
Quartz Temper 15	60.0	58.5	3510.0	53.1	50.8	2697.5	
Quartz Temper 16	60.0	58.5	3510.0	52.9	51.1	2703.2	
Quartz Temper 17	60.0	58.5	3510.0	52.7	51.0	2687.7	
Quartz Temper 18	60.0	58.5	3510.0	52.8	51.3	2708.6	
Quartz Temper 19	60.0	58.5	3510.0	53.0	52.0	2756.0	
Quartz Temper 20	60.0	58.5	3510.0	53.0	51.0	2703.0	
Quartz Temper 21	60.0	58.5	3510.0	53.4	51.4	2744.8	
Quartz Temper 22	60.0	58.5	3510.0	52.7	51.6	2719.3	
Quartz Temper 23	60.0	58.5	3510.0	53.4	51.3	2739.4	
Quartz Temper 24	60.0	58.5	3510.0	53.1	52.0	2761.2	
Quartz Temper 25	60.0	58.5	3510.0	53.3	52.3	2787.6	
Quartz Temper 26	60.0	58.5	3510.0	53.1	50.8	2697.5	
Quartz Temper 27	60.0	58.5	3510.0	53.3	51.4	2739.6	
Quartz Temper 28	60.0	58.5	3510.0	53.8	51.8	2786.8	
Quartz Temper 29	60.0	58.5	3510.0	53.0	51.7	2740.1	

							Shrink
Quartz Temper 30	60.0	58.5	3510.0	53.0	51.0	2703.0	%
Average	60.0	60.0	3510.0	53.1	51.3	2723.6	22.4%

4. Grog Temper – Calculations for Difference between Wet Size and Fired Area

	Temperature I 450°C (842°F)								
Temper Type	Wet Length (mm)	Wet Width (mm)	Wet Area (mm²)	Fired Length (mm)	Fired Width (mm)	Area (mm²)			
Grog Temper 1	60.0	58.5	3510.0	53.7	52.6	2824.6			
Grog Temper 2	60.0	58.5	3510.0	53.7	51.9	2787.0			
Grog Temper 3	60.0	58.5	3510.0	54.0	51.7	2791.8			
Grog Temper 4	60.0	58.5	3510.0	53.8	51.9	2792.2			
Grog Temper 5	60.0	58.5	3510.0	53.9	52.4	2824.4			
Grog Temper 6	60.0	58.5	3510.0	54.1	52.4	2834.8			
Grog Temper 7	60.0	58.5	3510.0	53.8	52.5	2824.5			
Grog Temper 8	60.0	58.5	3510.0	53.5	52.6	2814.1			
Grog Temper 9	60.0	58.5	3510.0	53.6	52.3	2803.3			
Grog Temper 10	60.0	58.5	3510.0	53.9	52.1	2808.2			
Grog Temper 11	60.0	58.5	3510.0	53.7	52.4	2813.9			
Grog Temper 12	60.0	58.5	3510.0	53.6	52.3	2803.3			
Grog Temper 13	60.0	58.5	3510.0	53.7	52.0	2792.4			
Grog Temper 14	60.0	58.5	3510.0	53.3	52.4	2792.9			
Grog Temper 15	60.0	58.5	3510.0	53.5	52.5	2808.8			
Grog Temper 16	60.0	58.5	3510.0	54.3	52.3	2839.9			
Grog Temper 17	60.0	58.5	3510.0	53.5	52.3	2798.1			
Grog Temper 18	60.0	58.5	3510.0	53.9	52.8	2845.9			
Grog Temper 19	60.0	58.5	3510.0	53.9	52.1	2808.2			
Grog Temper 20	60.0	58.5	3510.0	54.0	52.3	2824.2			
Grog Temper 21	60.0	58.5	3510.0	54.0	52.4	2829.6			
Grog Temper 22	60.0	58.5	3510.0	53.9	51.8	2792.0			
Grog Temper 23	60.0	58.5	3510.0	54.4	52.0	2828.8			
Grog Temper 24	60.0	58.5	3510.0	54.0	51.7	2791.8			
Grog Temper 25	60.0	58.5	3510.0	53.8	51.7	2781.5			
Grog Temper 26	60.0	58.5	3510.0	53.7	51.8	2781.7			
Grog Temper 27	60.0	58.5	3510.0	53.8	51.6	2776.1			
Grog Temper 28	60.0	58.5	3510.0	54.3	52.2	2834.5			

Grog Temper 29	60.0	58.5	3510.0	54.0	52.5	2835.0			
							Shrink		
Grog Temper 30	60.0	58.5	3510.0	53.8	52.5	2824.5	%		
Average	60	58.5	3510.0	53.8	52.2	2810.3	19.9%		
			Temp	erature II					
	700°C (1292°F)								
Temper Type	Wet				Fired				
	Length	Wet Width	Wet Area	Fired Length	Width				
	(mm)	(mm)	(mm²)	(mm)	(mm)	Area (mm²)			
Grog Temper 1	60.0	58.5	3510.0	54.3	52.5	2850.8			
Grog Temper 2	60.0	58.5	3510.0	54.6	52.3	2855.6			
Grog Temper 3	60.0	58.5	3510.0	54.1	52.8	2856.5			
Grog Temper 4	60.0	58.5	3510.0	53.8	52.5	2824.5			
Grog Temper 5	60.0	58.5	3510.0	54.3	53.0	2877.9			
Grog Temper 6	60.0	58.5	3510.0	54.4	52.2	2839.7			
Grog Temper 7	60.0	58.5	3510.0	54.4	52.0	2828.8			
Grog Temper 8	60.0	58.5	3510.0	54.0	52.0	2808.0			
Grog Temper 9	60.0	58.5	3510.0	53.9	52.7	2840.5			
Grog Temper 10	60.0	58.5	3510.0	53.7	52.6	2824.6			
Grog Temper 11	60.0	58.5	3510.0	53.9	52.7	2840.5			
Grog Temper 12	60.0	58.5	3510.0	53.9	52.7	2840.5			
Grog Temper 13	60.0	58.5	3510.0	53.8	51.9	2792.2			
Grog Temper 14	60.0	58.5	3510.0	53.7	52.2	2803.1			
Grog Temper 15	60.0	58.5	3510.0	53.7	52.3	2808.5			
Grog Temper 16	60.0	58.5	3510.0	54.1	52.3	2829.4			
Grog Temper 17	60.0	58.5	3510.0	53.8	52.4	2819.1			
Grog Temper 18	60.0	58.5	3510.0	53.6	52.5	2814.0			
Grog Temper 19	60.0	58.5	3510.0	54.2	52.4	2840.1			
Grog Temper 20	60.0	58.5	3510.0	54.0	52.3	2824.2			
Grog Temper 21	60.0	58.5	3510.0	53.8	52.8	2840.6			
Grog Temper 22	60.0	58.5	3510.0	54.2	52.5	2845.5			
Grog Temper 23	60.0	58.5	3510.0	54.7	52.6	2877.2			
Grog Temper 24	60.0	58.5	3510.0	54.0	52.4	2829.6			
Grog Temper 25	60.0	58.5	3510.0	54.1	52.2	2824.0			
Grog Temper 26	60.0	58.5	3510.0	54.4	52.3	2845.1			
Grog Temper 27	60.0	58.5	3510.0	53.9	52.0	2802.8			
Grog Temper 28	60.0	58.5	3510.0	54.5	51.9	2828.6			
Grog Temper 29	60.0	58.5	3510.0	54.1	52.5	2840.3			
Grog Tompor 20	60.0	58 E	2510.0	547	51.0	2828 0	Shrink ∞∕		
	60.0	50.5	2510.0	54.7	51.9	2030.9	/0		
Average	60	58.5	3210.0	54.1	52.4	2833.0	19.3%		

	Temperature III 1000°C (1832°F)						
Temper Type	Wet Length (mm)	Wet Width (mm)	Wet Area (mm ²)	Fired Length (mm)	Fired Width (mm)	Area (mm²)	
Grog Temper 1	60.0	58.5	3510.0	52.2	51.2	2672.6	
Grog Temper 2	60.0	58.5	3510.0	52.0	50.9	2646.8	
Grog Temper 3	60.0	58.5	3510.0	52.3	50.8	2656.8	
Grog Temper 4	60.0	58.5	3510.0	52.4	50.4	2641.0	1
Grog Temper 5	60.0	58.5	3510.0	52.1	51.3	2672.7	1
Grog Temper 6	60.0	58.5	3510.0	52.8	51.4	2713.9	1
Grog Temper 7	60.0	58.5	3510.0	53.0	50.5	2676.5	1
Grog Temper 8	60.0	58.5	3510.0	52.9	51.4	2719.1	1
Grog Temper 9	60.0	58.5	3510.0	53.0	51.4	2724.2	
Grog Temper 10	60.0	58.5	3510.0	52.4	51.0	2672.4	
Grog Temper 11	60.0	58.5	3510.0	52.8	51.6	2724.5	
Grog Temper 12	60.0	58.5	3510.0	52.7	50.8	2677.2	
Grog Temper 13	60.0	58.5	3510.0	52.8	51.0	2692.8	
Grog Temper 14	60.0	58.5	3510.0	52.9	51.3	2713.8	
Grog Temper 15	60.0	58.5	3510.0	53.3	51.5	2745.0	
Grog Temper 16	60.0	58.5	3510.0	52.8	50.9	2687.5	
Grog Temper 17	60.0	58.5	3510.0	53.0	51.6	2734.8	
Grog Temper 18	60.0	58.5	3510.0	52.9	51.0	2697.9	
Grog Temper 19	60.0	58.5	3510.0	53.0	50.9	2697.7	
Grog Temper 20	60.0	58.5	3510.0	51.4	50.9	2616.3	
Grog Temper 21	60.0	58.5	3510.0	53.2	51.3	2729.2	
Grog Temper 22	60.0	58.5	3510.0	53.5	51.0	2728.5	
Grog Temper 23	60.0	58.5	3510.0	53.5	51.4	2749.9	
Grog Temper 24	60.0	58.5	3510.0	53.1	51.2	2718.7	
Grog Temper 25	60.0	58.5	3510.0	53.2	50.4	2681.3	
Grog Temper 26	60.0	58.5	3510.0	53.0	51.0	2703.0	
Grog Temper 27	60.0	58.5	3510.0	53.0	51.0	2703.0	
Grog Temper 28	60.0	58.5	3510.0	53.1	50.7	2692.2	
Grog Temper 29	60.0	58.5	3510.0	53.1	50.6	2686.9	
Grog Temper 30	60.0	58.5	3510.0	53.6	50.6	2712.2	Sh
Average	60	58.5	3510.0	52.8	51	2696.3	23

	Temperature I 450°C (842°F)							
Temper Type	Wet Length (mm)	Wet Width (mm)	Wet Area (mm²)	Fired Length (mm)	Fired Width (mm)	Area (mm²)		
Sand Temper 1	60.0	58.5	3510.0	57.4	55.7	3197.2		
Sand Temper 2	60.0	58.5	3510.0	57.0	55.2	3146.4		
Sand Temper 3	60.0	58.5	3510.0	56.7	55.2	3129.8		
Sand Temper 4	60.0	58.5	3510.0	57.4	55.1	3162.7		
Sand Temper 5	60.0	58.5	3510.0	57.3	55.1	3157.2		
Sand Temper 6	60.0	58.5	3510.0	56.9	55.3	3146.6		
Sand Temper 7	60.0	58.5	3510.0	56.6	55.7	3152.6		
Sand Temper 8	60.0	58.5	3510.0	57.2	55.5	3174.6		
Sand Temper 9	60.0	58.5	3510.0	56.9	55.4	3152.3		
Sand Temper 10	60.0	58.5	3510.0	57.3	55.5	3180.2		
Sand Temper 11	60.0	58.5	3510.0	57.4	55.9	3208.7		
Sand Temper 12	60.0	58.5	3510.0	57.0	55.8	3180.6		
Sand Temper 13	60.0	58.5	3510.0	57.2	54.6	3123.1		
Sand Temper 14	60.0	58.5	3510.0	56.8	55.2	3135.4		
Sand Temper 15	60.0	58.5	3510.0	57.0	55.4	3157.8		
Sand Temper 16	60.0	58.5	3510.0	56.8	55.3	3141.0		
Sand Temper 17	60.0	58.5	3510.0	56.7	55.6	3152.5		
Sand Temper 18	60.0	58.5	3510.0	56.9	55.4	3152.3		
Sand Temper 19	60.0	58.5	3510.0	57.1	55.2	3151.9		
Sand Temper 20	60.0	58.5	3510.0	56.9	55.3	3146.6		
Sand Temper 21	60.0	58.5	3510.0	56.6	56.1	3175.3		
Sand Temper 22	60.0	58.5	3510.0	56.3	55.7	3135.9		
Sand Temper 23	60.0	58.5	3510.0	57.2	55.8	3191.8		
Sand Temper 24	60.0	58.5	3510.0	56.7	55.4	3141.2		
Sand Temper 25	60.0	58.5	3510.0	56.1	54.5	3057.5		
Sand Temper 26	60.0	58.5	3510.0	56.5	54.9	3101.9		
Sand Temper 27	60.0	58.5	3510.0	57.0	55.3	3152.1		
Sand Temper 28	60.0	58.5	3510.0	57.3	55.9	3203.1		
Sand Temper 29	60.0	58.5	3510.0	57.2	55.3	3163.2		
Cond Torran 20	(0.0		2510.0	F7 C		2202.0	Shr	
Sand Temper 30	60.0	58.5	3510.0	57.6	55.6	3202.6	%	
Average	60.0	58.5	3510.0	57.0	55.4	3155.8	10.1	

5. Sand Temper – Calculations for Difference between Wet Size and Fired Area

Temper Type	Wet Length (mm)	Wet Width (mm)	Wet Area (mm²)	Fired Length (mm)	Fired Width (mm)	Area (mm²)		
Sand Temper 1	60.0	58.5	3510.0	57.2	55.2	3157.4		
Sand Temper 2	60.0	58.5	3510.0	57.1	55.6	3174.8		
Sand Temper 3	60.0	58.5	3510.0	57.4	56.0	3214.4		
Sand Temper 4	60.0	58.5	3510.0	57.1	55.5	3169.1		
Sand Temper 5	60.0	58.5	3510.0	58.0	55.9	3242.2		
Sand Temper 6	60.0	58.5	3510.0	57.1	55.6	3174.8		
Sand Temper 7	60.0	58.5	3510.0	57.5	55.5	3191.3		
Sand Temper 8	60.0	58.5	3510.0	56.9	56.0	3186.4		
Sand Temper 9	60.0	58.5	3510.0	57.0	55.4	3157.8		
Sand Temper 10	60.0	58.5	3510.0	56.9	55.3	3146.6		
Sand Temper 11	60.0	58.5	3510.0	57.4	55.4	3180.0		
Sand Temper 12	60.0	58.5	3510.0	57.7	55.7	3213.9		
Sand Temper 13	60.0	58.5	3510.0	57.3	55.7	3191.6		
Sand Temper 14	60.0	58.5	3510.0	57.3	55.6	3185.9		
Sand Temper 15	60.0	58.5	3510.0	57.4	55.7	3197.2		
Sand Temper 16	60.0	58.5	3510.0	57.5	55.6	3197.0		
Sand Temper 17	60.0	58.5	3510.0	57.3	55.8	3197.3	1	
Sand Temper 18	60.0	58.5	3510.0	57.8	55.4	3202.1		
Sand Temper 19	60.0	58.5	3510.0	57.7	56.2	3242.7		
Sand Temper 20	60.0	58.5	3510.0	58.4	55.5	3241.2		
Sand Temper 21	60.0	58.5	3510.0	57.6	56.0	3225.6		
Sand Temper 22	60.0	58.5	3510.0	57.7	55.9	3225.4		
Sand Temper 23	60.0	58.5	3510.0	57.3	55.7	3191.6		
Sand Temper 24	60.0	58.5	3510.0	57.9	55.3	3201.9		
Sand Temper 25	60.0	58.5	3510.0	57.5	55.8	3208.5		
Sand Temper 26	60.0	58.5	3510.0	57.3	55.2	3163.0		
Sand Temper 27	60.0	58.5	3510.0	57.5	55.2	3174.0		
Sand Temper 28	60.0	58.5	3510.0	57.3	55.4	3174.4		
Sand Temper 29	60.0	58.5	3510.0	57.3	56.1	3214.5		
							Shr	
Sand Temper 30	60.0	58.5	3510.0	56.0	55.8	3124.8	9	
Average	60.0	58.5	3510.0	57.4	55.6	3192.2	9.3	
Temper Type		Temperature III 1000°C (1832°F)						

	Wet	Wet					
	Length	Width	Wet Area	Fired Length	Fired Width	Area	
	(mm)	(mm)	(mm²)	(mm)	(mm)	(mm²)	
Sand Temper 1	60.0	58.5	3510.0	56.9	55.0	3129.5	
Sand Temper 2	60.0	58.5	3510.0	57.8	54.0	3121.2	
Sand Temper 3	60.0	58.5	3510.0	56.9	54.9	3123.8	
Sand Temper 4	60.0	58.5	3510.0	56.7	55.1	3124.2	
Sand Temper 5	60.0	58.5	3510.0	56.2	55.2	3102.2	
Sand Temper 6	60.0	58.5	3510.0	56.7	55.0	3118.5	
Sand Temper 7	60.0	58.5	3510.0	57.0	54.7	3117.9	
Sand Temper 8	60.0	58.5	3510.0	56.5	56.0	3164.0	
Sand Temper 9	60.0	58.5	3510.0	56.6	55.5	3141.3	
Sand Temper 10	60.0	58.5	3510.0	56.8	55.3	3141.0	
Sand Temper 11	60.0	58.5	3510.0	57.0	55.3	3152.1	
Sand Temper 12	60.0	58.5	3510.0	56.8	55.0	3124.0	
Sand Temper 13	60.0	58.5	3510.0	56.7	55.2	3129.8	
Sand Temper 14	60.0	58.5	3510.0	57.0	55.0	3135.0	
Sand Temper 15	60.0	58.5	3510.0	57.0	55.8	3180.6	
Sand Temper 16	60.0	58.5	3510.0	56.9	55.4	3152.3	
Sand Temper 17	60.0	58.5	3510.0	56.9	55.0	3129.5	
Sand Temper 18	60.0	58.5	3510.0	57.5	55.1	3168.3	
Sand Temper 19	60.0	58.5	3510.0	57.2	54.8	3134.6	
Sand Temper 20	60.0	58.5	3510.0	57.1	55.0	3140.5	
Sand Temper 21	60.0	58.5	3510.0	56.9	55.0	3129.5	
Sand Temper 22	60.0	58.5	3510.0	57.6	55.1	3173.8	
Sand Temper 23	60.0	58.5	3510.0	57.2	54.9	3140.3	
Sand Temper 24	60.0	58.5	3510.0	57.6	55.4	3191.0	
Sand Temper 25	60.0	58.5	3510.0	57.6	55.1	3173.8	
Sand Temper 26	60.0	58.5	3510.0	57.9	55.4	3207.7	
Sand Temper 27	60.0	58.5	3510.0	56.6	55.3	3130.0	
Sand Temper 28	60.0	58.5	3510.0	56.7	55.1	3124.2	
Sand Temper 29	60.0	58.5	3510.0	57.6	55.5	3196.8	
							Shrink
Sand Temper 30	60.0	58.5	3510.0	57.3	55.2	3163.0	%
Average	60.0	58.5	3510.0	57.0	55.1	3145.3	10.4%

6. Basic Sample Statistical Values for Wet Versus Fired Tile Calculated Area Differences

Sample Statistics of Wet Versus Fired Size

Temperature 1 450°C (842°F)								
Statistic	Temper							
	No Temper	Quartz	Grog	Sand				
Area Mean (mm²)	2728.3	2816.1	2810.3	3155.8				
Area Mode (mm²)	2656.1	2818.8, 2818.4	2791.8, 2824.5, 2803.3, 2808.2	3146.6, 3152.3				
Area Median (mm ²)	2728.8	2818.4	2808.5	3152.4				
Area Range (mm²)	147.4	137.1	69.8	151.2				
Area Standard Deviation (mm ²)	42.20212	36.655577	19.712946	31.171522				
Area Variance (mm ²)	1781.0189	1343.6313	388.60023	971.66378				
Temperature 2 700°C (1292°F)								
No Temper Quartz Grog Sand								
Area Mean (mm²)	2738.9	2838.9	2833	3192.3				
Area Mode (mm ²)	2771.1	2830.0, 2835.5	2840.5	3174.8, 3191.6				
Area Median (mm ²)	2750.6	2835.1	2834.25	3191.6				
Area Range (mm ²)	177.4	90	85.7	117.9				
Area Standard Deviation (mm ²)	40.581018	23.732019	20.064508	28.491932				
Area Variance (mm ²)	1646.819	563.20875	402.58447	811.79016				
	Tei 100	mperature 3)0°C (1832°F)						
	No Temper	Quartz	Grog	Sand				
Area Mean (mm²)	2617.4	2723.6	2696.3	3145.4				
Area Mode (mm²)	2621.4	2713.8, 2697.5, 2703.0	2703	3129.5				
Area Median (mm ²)	2621.1	2713.8	2697.8	3137.7				
Area Range (mm ²)	165.8	127	133.6	105.5				
Area Standard Deviation (mm ²)	35.57365	30.648648	31.480518	26.282546				
Area Variance (mm ²)	1265.4846	939.33964	991.02303	690.77223				

BIBLIOGRAPHY

- Acree, Mark A. "Is There a Gender Difference in Fingerprint Ridge Density?" *Forensic Science International* 102, no. 1 (1999): 35–44.
- Babler, William J. "Embryonic Development of Epidermal Ridges and their Configurations." *Birth Defects Original Article Series* 27, no. 2 (1991): 95– 112.
- Baxter, Jane. "The Archaeology of Childhood." *Annual Review of Anthropology* 37 (2008): 159–175.
- Beck, Margaret, and Hector Neff. "Hohokam and Patayan Interaction in Southwestern Arizona: Evidence from Ceramic Compositional Analyses." *Journal of Archaeological Science* 34 (2007): 289–300.
- Beck, Margaret E., and Jeffrey R. Ferguson. "The Lowland Patayan in the Southern U.S. Southwest: Tracking Vessel Movement through Ceramic Compositional Analyses." *Journal of Archaeological Science: Reports* 7 (2016): 262–268.
- Bennison-Chapman, Lucy E., and Lori D. Hager. "Tracking the Division of Labour through Handprints: Applying Reflectance Tranformation Imaging (RTI) to Clay 'Tokens' in Neolithic West Asia." *Journal of Archaeological Science* 99 (2018): 112–123.
- Bergaya, F., and G. Lagally (editors). "Handbook of Clay Science." Developments in Clay Science no 5A. Amsterdam: Elsevier, 2013.
- Bishop, Ronald L., Robert L. Rands, and George R. Holley. "Ceramic Compositional Analysis in Archaeological Perspective." *Advances in Archaeological Method and Theory* 5 (1982):275–330.

- Chrisman, Donald, Richard S. MacNeish, Jamshed Mavalwala, and Howard Savage. "Late Pleistocene Human Friction Skin Prints from Pendejo Cave, New Mexico." *American Antiquity* 61, no. 2 (1996): 357–376.
- Crown, Patricia L. "Life Histories of Pots and Potters: Situating the Individual in Archaeology." *American Antiquity* 72, no. 4 (2007): 677–690.
- Cummins, Harold, Walter J. Waits, and James T. McQuitty. "The Breadths of Epidermal Ridges on the Finger Tips and Palms: A Study of Variation." *American Journal of Anatomy*. 68, no. 1 (1941): 127–150.
- David, T.J. "Distribution, Age and Sex Variation of the Mean Epidermal Ridge Breadth." *Human Heredity* 31 (1981): 279–151.
- Eshak, Ghada Attia, Jaklin Fekri Zaher, Eman Ismail Hasan, and Ashraf Abd El-Azeem Ewis. "Sex Identification from Fingertip Features in Egyptian Population." *Journal of Forensic and Legal Medicine* 20 (2013): 46–50.
- Fowler, Kent D., Elizabeth Walker, Haskel J. Greenfield, Jon Ross, and Aren M. Maeir. "The Identity of Potters in Early States: Determining the Age and Sex of Fingerprints on Early Bronze Age Pottery from Tell eş-Şâfi/Gath, Israel." *Journal of Archaeological Method and Theory* 26 (2019): 1470– 1512.

Galton, Francis. "Finger Prints." London: MacMillan and Co., 1892.

- Garcia Ferrari, Mercedes. "El Gabinete de Juan Vucetich: un Laboratorio de Experimentación. La Plata, Argentina: 1891-1901." *Estudios Interdicciplinarios de América Latina y el Caribe* 27, no. 2 (2016): 7–28.
- Garzón, Eduardo, Luis Pérez-Villarejo, Delores Eliche-Quesada, Sergio Martínez-Martínez, and Pedro J. Sánchez-Soto. "Vitrification Rate and Estimation of the Optimum Firing Conditions of Ceramic Materials from Raw Clays: A Review." *Ceramics International* 48 (2022): 15889–15898.

- Gero, Joan M., and Margaret W. Conkey (editors). "*Engendering Archaeology: Women and Prehistory*." Blackwell, Oxford: Blackwell, 1991.
- Gliozzo, Elisabetta. "Ceramic Technology: How to Reconstruct the Firing Process." Archaeological and Anthropological Sciences 12 (2020): 260. https://doi.org/10.1007/s12520-020-01133-y
- Gonzales, David A., Fumi Arakawa, and Alan Koenig. "Petrographic and Geochemical Constraints on the Provenance of Sanidine-Bearing Temper in Ceramic Potsherds, Four Corners Region, Southwest USA." *Geoarchaeology: An International Journal* 30 (2014): 59–73.
- Gosselain, Olivier P. "Bonfire of Enquiries. Pottery Firing Temperatures in Archaeology: What For?" *Journal of Archaeological Science* 19 (1992): 243–259.
- Gottschlich, Carsten, Thomas Hotz, Robert Lorenz, Stefanie Bernhardt, Michael Hantschel, and Alex Munk. "Modeling the Growth of Fingerprints Improves Matching for Adolescents." *IEEE Transactions on Information, Forensics, and Security*. 6, no.3 (2011): 1165–1169.
- Grzybowski, Andrzej, and Krzysztof Pietrzak. "Jan Evangelista Purkynje (1787– 1869): First to Describe Fingerprints." *Clinics In Dermatology* 33 (2015): 117–121.
- Guggenheim, S., and R.T. Martin. "Definition of Clay and Clay Mineral: Joint Report of the Aipea and CMS Nomenclature Committees." *Clay Minerals* 30 (1995): 257–259.
- Gungadin, Sudesh. "Sex Determination from Fingerprint Ridge Density." Internet Journal of Medical Update 2, no. 2 (2007): 4–7.

- Gutiérrez-Redomero, Esperanza, Concepción Alonso, Esther Romero, and Virginia Galera. "Variability of Fingerprint Ridge Density in a Sample of Spanish-Caucasians and its Application to Sex Determination." *Forensic Science International* 180 (2008): 17–22.
- Gutiérrez-Redomero, Esperanza, Ángeles Sánchez-Andrés, Noemí Rivaldería, Concepción Alonso-Rodríguez, José E. Dipierri, and Luis M. Martín. "A Comparative Study of Topological and Sex Differences in Fingerprint Ridge Density in Argentinian and Spanish Population Samples." *Journal of Forensic and Legal Medicine* 20 (2013a): 419–429.
- Gutiérrez-Redomero, Esperanza, Juan A. Quirós, Noemi Rivalderia, and María C. Alonso. "Topological Variability of Fingerprint Ridge Density in a Sub-Saharan Population Sample for Application in Personal Identification." *Journal of Forensic Science* 58, no. 3 (2013b): 592–600.
- Gutiérrez-Redomero, Esperanza, Noemí Rivaldería, Concepción Alonso-Rodríguez, and Ángeles Sánchez-Andrés. "Assessment of the Methodology for Estimating Ridge Density in Fingerprints and Its Forensic Application." *Science and Justice* 54 (2014): 199–207.
- Harry, Karen G., Timothy J. Ferguson, James R. Allison, Brett T. McLaurin, Jeff Ferguson, and Margaret Lyneis. "Examining the Production and Distribution of Shivwits Ware Pottery in the American Southwest." *American Antiquity* 78, no. 2 (2013): 385–396.
- Hecht, A.F. "Über das Hand und Fußflächenrelief von Kindern." Zeitscrift für die gesamte Experimentalle Medizine 39 (1924): 56–66.
- Hildebrand, John A., G. Timothy Gross, Jerry Schaefer, and Hector Neff.
 "Patayan Ceramic Variability: Using Trace Elements and Petrographic Analysis to Study Brown and Buff Wares in Southern California," in *Ceramic Production and Circulation in the Greater Southwest*, edited by Donna M. Glowacki and Hector Neff, 121–143. Los Angeles: 2002.

- Jain, A.K., S. Prabhakar, and S. Pankanti. "On the Similarity of Identical Twin Fingerprints." *Pattern Recognition* 35, no. 11 (2002): 2653–2663.
- Kamp, Kathryn, Nichole Timmerman, Gregg Lind, Jules Graybill, and Ian Natowsky. "Discovering Childhood: Using Fingerprints to find Children in the Archaeological Record." *American Antiquity* 64, no. 2 (1999): 309– 315.
- Kamp, Kathryn A. "Children and their Childhoods: Retrospectives and Prospectives." *Childhood in the Past* 8, no. 2 (2015): 161–169.
- Kantner, John, David McKinney, Michele Pierson, and Shaza Wester.
 "Reconstructing Sexual Divisions of Labor from Fingerprints on Ancestral Puebloan Pottery." *Proceedings of the National Academy of Sciences of the United States of America* 116, no. 25 (2019): 12220–12225.
- Kostadinova-Avramova, Maria, Neli Jordanova, Diana Jordanova, Valeri Grigorov, Deyan Lesigyarski, Petar Dimitrov, and Elena Bozhinova. "Firing Temperatures of Ceramics from Bulgaria Determined by Rock-Magnetic Studies." *Journal of Archaeological Science: Reports* 17 (2018): 617–633.
- Králík, Miroslav. "Otisky prstů a dlaní na keramickém materiálu (Fingerprints and Palm-Prints on Ceramics)." Masters Thesis, Masaryk University Brno, 2000.
- Králík, Miroslav, Vladimír Novotný, and Martin Olivia. "Fingerprint on the Venus of Dolní Vêstonice I." *Anthropologie (Brno)* 40, no. 2 (2002): 107–113.
- Králik, Miroslav, and Vladimír Novotný. "Epidermal Ridge Breadth: An Indicator of Age andSex in Paleodermatoglyhics." *Variability and Evolution* 11 (2003): 5–30.
- Králik, Miroslav, and Ladislav Nejman. "Fingerprints on Artifacts and Historical Items: Examples and Comments." *Journal of Ancient Fingerprints* 1 (2007): 3–15.

- Krishan, Kewal, Tanuj Kanchan, and Chitrabala Ngangom. "A Study of Sex Differences in Fingerprint Ridge Density in a North Indian Young Adult Population." *Journal of Forensic and Legal Medicine* 20 (2013): 217–222.
- Kücken, Michael, and Alan C. Newell. "Fingerprint Formation." *Journal of Theoretical Biology* 235 (2005): 71–83.
- Lambert, Aurore, André Desmarais, and Cyril Driard. "Le Site de la Médiathéque Entre Dore et Alliers à Lezoux (Puy-de-Dóme): Des Traces Papillaires Antiques en Contexte d'atelier de Potiers." *Gallia* 75 (2018): 49–67.

Leroi-Gourhan, André. "Gesture and Speech." Cambridge: MIT Press, 1993.

- Lichtenberger, Achim, and Kimberlee S. Moran. "Ancient Fingerprints from Beit Nattif: Studying Late Roman Clay Impressions on Oil Lamps and Figurines." *Antiquity* 92, no. 361 (2018): 1–6.
- Maca, Karel. "Microstructure Evolution During Pressureless Sintering of Bulk Oxide Ceramics." *Processing and Application of Ceramics* 3 [1–2] (2009): 13–17."
- Mull, Günther, Klaus Püschel, and Eilin Jopp. "Fingerprint Identification on a Bog Body (650 BC)." Archaeological and Anthropological Sciences 3 (2011): 201–207.
- Mundorff, Amy Z., Eric J. Bartelink, and Turhon A. Murad. "Sexual Dimorphism in Finger Ridge Breadth Measurements: A Tool for Sex Estimation from Fingerprints." *Journal of Forensic Science* 59, no. 4 (2014). https//doi.org/10.111/1556-4029.12449.
- Nayak, Vinod C., Prateek Rastogi, Tanuj Kanchan, K. Yoganarasimha, G. Purdeep Kumar, and Ritesh G. Menezes. "Sex Differences from

Fingerprint Ridge Density in Chinese and Malaysian Population." *Forensic Science International* 197 (2010): 67–69.

- Nithin, M.D., B. Manjunatha, D.S. Preethi, B.M. Balaraj, D.F.M., and H.O.D. "Gender Differentiation by Finger Ridge Count Among South Indian Population." *Journal of Forensic and Legal Medicine* 18 (2011): 19–81.
- Quinn, Patrick Sean. "Ceramic Petrography: The Interpretation of Archaeological Pottery and Related Artefacts in Thin Section." Oxford: Archaeopress, 2013.
- Rassmussen, Kaare Lund, Guillermo A. De La Fuente, Andrew D. Bond, Karsten Korsholm Matheiesen, and Sergio D. Vera. "Pottery Firing Temperatures: A New Method of Determining the Firing Temperature of Ceramics and Burnt Clay." *Journal of Archaeological Science* 39 (2012): 1705–1716.
- Ratto, Norma, Valeria Gogni, Mariano Bonoli Escobar, and Rita Plá. "Mud-Clay Banks and Regional Geochemistry: The Provenance of Ceramic Raw Materials (Department Tinogasta, Catamarca, Argentina)." *Quarternary International* 375 (2015): 13–26.
- Rockwell, Jim O. "Fingerprints on Earthenware Sherds: Uses and Implications for the Historical Archaeologist." *Historical Archaeology* 4 (1970): 76–82.
- Rosa, Araceli, Lourdes Fañanás, Jim van Os, Tracy Ribchester, Nadia Davies, Bárbara Arias, Alison McDonald, and Robin M. Murray. "Further Evidence that Congenital Dermatoglyphic Abnormalities are Associated with Psychosis: A Twin Study." *Schizophrenia Bulletin* 28, no. 4 (2002): 697– 701.
- Sanders, Akiva. "Fingerprints, Sex, State, and the Organization of the Tell Leilan Ceramic Industry." *Journal of Archaeological Science* 57 (2015): 223–238.

- Santacreu, Daniel Albero. "Materiality, Techniques, and Society in Pottery Production: The Technological Study of Archaeological Ceramics through Paste Analysis." Warsaw: De Gruyter Open Ltd., 2014a.
- Santacreu, D. A. "Identifying Spathic Calcite Recipe in Archaeological Ceramics: Possibilities and Limitations." *Cerâmica* 60 (2014b): 379–391.
- Slocum, Sally. "Woman the Gatherer: Male Bias in Anthropology." In *Toward an Anthropology of Women*. Edited by R.R. Reiter, 49. New York: Monthly Review Press, 1975.
- Speakman, Robert J., Nicole C. Little, Darrell Creel, Myles R. Miller, and Javier G. Iñañez. "Sourcing Ceramics with Portable XRF Spectrometers? A Comparison with INAA Using Membres Pottery from the American Southwest." *Journal of Archaeological Science* 38 (2011): 3483–3496.
- Stigler, Stephen M. "Galton and Identification by Fingerprints." *Genetics* 140, no. 3 (1995): 857–860.
- Stinson, Susan Lynne. "Household Ritual, Gender, and Figurines in the Hohokam Regional System." PhD Dissertation, University of Arizona, 2004.
- Taduran, Richard Jonathan O., Anna Katrina V. Tadeo, Nadine Anne C. Escalona, and Grant C. Townsend. "Sex Determination from Fingerprint Ridge Density and White Line Counts in Filipinos." *Homo* 67, no. 2 (2016): 163–171.
- Tarhan, İsmail, İlker Işik, and Bilal Söğüt. "Application of ATR-FTIR Spectroscopy in Tandem with Chemometrics for Assessing the Firing Conditions of Hellenistic and Roman Ceramic Shards Excavated from the Ancient City of Stratonikeia in South-Western Turkey." *Microchemical Journal* 162, no. 105852 (2021): 1–9.

- Teitelbaum, Jeff "The First Criminal Conviction Based on Fingerprint Evidence: Argentina, 1892." *Forensic Science Review* 30, no. 1 (2018): 16–17.
- Tite, M.S. "Pottery Production, Distribution, and Consumption: The Contribution of the Physical Sciences." *Journal of Archaeological Method and Theory* 6, no. 3 (1999): 181–233.
- Tochlin, Clare, William R. Dickerson, Matthew W. Felgate, Mark Pecha, Peter Sheppard, Frederick H. Damon, Simon Bickler, and George E. Gehrels.
 "Sourcing Temper Sands in Ancient Ceramics with U-Pb Ages of Detrital Zircons: A Southwest Pacific Case." *Journal of Archaeological Science* 39 (2012): 2583–2591.
- Van Keuren, Scott, Hector Neff, and Mark A. Agostini. "Glaze-Paints, Technological Knowledge, and Ceramic Specialization in the Fourteenth-Century Pueblo Southwest." *Journal of Anthropological Archaeology* 32 (2013): 675–690.
- Yamashita, Brian, and Mike French. "Chapter 7: Latent Print Development." In *The Fingerprint Sourcebook*, edited by Eric H. Holder, Jr., Laurie O. Robinson, and John H. Laub, 1–67. Washington, D.C.: U.S. Dept. of Justice, Office of Justice Programs, National Institute of Justice, 2011.